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Part A: Grammar and Vocabulary

Directions: Question 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76. After breaking his leg in the skiing accident, ......... to cut short his vacation and go back home.
1) forced 2) he forced 3) that forced 4) he was forced
77.1......... to save the man if I knew how to swim.
1) tried 2) will try 3) would try 4) had tried
78. The boss would get mad if you leave early again, so ......... ask for his permission first.
1) you should 2) you might 3) would you 4) you are going to
79. ceueenn.. , I have no idea where I would like to vacation this summer.
1) I am honest 2) Be honest 3) To be honest 4) Honest I am
80.1......... what I would be doing now in this strange country without your kind help.
1) suppose 2) wonder 3) prefer 4) hate
81. He was absolutely ......... , as he was speaking in a language with which I was anything but familiar.
1) proud 2) skillful 3) monolingual 4) incomprehensible
82. The education offered beyond high school, especially at a college or university, is technically known as .........
education.
1) higher 2) creative 3) advanced 4) intermediate
83. We cancelled our camping trip because the weatherman said the ......... of heavy rain was very high.
1) variety 2) strength 3) beginning 4) likelihood
84. Jane was not that good at learning languages, so I was surprised to learn she could ......... speak three foreign
languages very fluently.
1) widely 2) actually 3) hopefully 4) necessarily
85. I am more on the side of people who ......... health above money; I believe health and happiness have a direct
relationship.
1) hang 2) leave 3) value 4) identify
86. A: How would you ......... Tim?
B: He said he'd have on a red shirt, didn't he?
1) recognize 2) remind 3) discover 4) expect
87. Julie always says she'll donate to the school, and she never does, so I doubt she will this year. ......... , after all.
1) Actions speak louder than words 2) Cut your coat according to your cloth
3) God helps those who help themselves 4) Don't count your chickens before they hatch

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

In many companies, perhaps the best way to do certain new projects is to put a group of people together
(88)......... . Having a team of people attack a project (89)......... several advantages or positive points. First of
all, a group of people has a wider (90)......... of knowledge, expertise, and skills than any single group
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“91)......... is likely to have. Also, because of the numbers of people involved and the greater resources
92)......... , a group can work more quickly in response to the project they are to get done and can present
highly creative solutions to problems and issues.
88.
1) that a team is formed 2) and so forming a team
3) but forms a team 4) and form a team
89.
1) offers 2) to offer 3) which offers 4) is offered by
90.
1) item 2) range 3) means 4) function
91.
1) section 2) mission 3) member 4) responsibility
92.
1) are available 2) than they areavailable
3) that are available 4) which they areavailable

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

PASSAGE 1:

The cultural context can also influence life expectancy for men and women. (Life expectancy is the expected
length of a person's life.) For example, women generally smoke cigarettes less than men, which has been proven to
cause many health problems and to shorten lives.

Another factor that has influenced the lives of women is the lack of stress. Stress is well known to shorten lives.
Until recently, women who worked were usually in less responsible, less stressful positions. At home, housework
tends to keep women in better physical condition than men. This generally better physical condition is yet another
factor in women's longer lives.

These cultural factors have played an important part for the women who are now getting old. But the social
habits of women are changing. Young women are smoking more than women used to. More women are working
now and holding more responsible positions. These changes may mean that the cultural context will no longer
help women live healthier lives. However, women will continue to live longer than men because of certain other
factors.

93. The passage would most probably continue with a discussion of ......... .
1) why women are no longer willing to stay home and do housework
2) the reasons behind the change in different countries' culture around the world
3) factors other than cultural factors in relation to women's living longer than men
4) how a healthy lifestyle is important for both men and women in today's ever-changing world

94. It can be understood from the passage that the author considers cigarette smoking to ......... .
1) become more common among women than it is now among men
2) have a relationship with the amount of stress in people's lives
3) be more harmful to women than to men
4) be a culture-related habit

95. It can be understood from the passage that men can improve their physical condition by ......... .
1) doing housework 2) giving theirjobs to women
3) working jobs with more responsibility 4) taking better care of their health problems

96. Which of the following statements is TRUE, according to the passage?
1) Women in the past did not smoke because it was considered a socially negative habit.
2) The difference in life expectancy between men and women is very likely to become smaller.
3) Women's health problems and those of men are similar in terms of both their causes and effects.
4) If women realize their health problems are because of their new social roles, they would renew their past habits.
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PASSAGE 2:

The advantages or positive points of ereaders certainly seem to be more than the disadvantages. They are
light and mobile devices that can be taken anywhere. Taking one gadget on holiday allows us to take hundreds of
novels with us without having to pay for extra luggage on the plane.

The electronic nature of e-readers gives us so much more than a print copy of a book can do. It lets us read in
the dark (handy in case of a power cut). We can look up unfamiliar words in the in-built dictionary with just one
click, we can make notes, and we never forget what page we were on: the e-reader remembers that for us. If our
eyesight declines, we can make the letters bigger. We can re-read Jane Eyre as often as we like and the book will
never look any worse for it. And even if our taste in books is unusual, nobody need know: others can't see what
we are reading. Not only that, most e-books are cheaper than their print versions, and many older books can be
downloaded for free.

So why have only one in three of us read an e-book? The answer must be that there is something special about
the look, the feel, and maybe even the smell of printed books. 'Real' books are objects that have a past and their
physical presence surrounds us with happy memories.

97. The author seems to believe that ......... .
1) printed books are here to stay
2) everyone will soon be using e-books only
3) the digital world has totally changed the publishing industry
4) e-books are difficult to use because they require the use of some extra digital devices

98. What does paragraph 2 mainly discuss?
1) The way e-books have changed people's reading habits
2) The reason why e-books are more fun to read
3) The effects of e-books on human health
4) The advantages of e-books

99. The name "Jane Eyre” in paragraph 2 is most probably ......... .
1) an author's name 2) a book title
3) an e-reader brand 4) a text that is difficult to understand

100. What does the word " thaf" in paragraph 2 refer to?
1) making notes
3) the reading act

2) the page we were reading
4) the meaning of unknown words
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76. Mr. Thomson has just received an offer for a job but he ......... what to do about it yet.
1) didn't decide 2) hadn't decided 3) hasn't decided 4) won'tdecide
TTe veivninns speak it fluently takes more time than I previously thought.
1) Able to learn a foreign language for 2) I learn a foreign language to be able to
3) Learning a foreign language to be able to 4) Learn to be able for a foreign language for me
78. The bus drivers ......... arest, as they have just returned from a long trip.
1) will need 2) must need 3)should be needed 4) who are going toneed
79. 1 should say that I haven't seen ......... man than Peter in my whole life so far.
1) as generous as a 2) a more generous 3)the most generous 4) the most generous of
80. If you just ......... the great number of people who are leaving our town in search for a job somewhere else,
you may rightly conclude that our town has no future.
1) consider 2) suggest 3) suppose 4) expect
81. It is no surprise that Neil didn't learn much in that course; he actually didn't attend classes as ......... as
he should have.
) really 2)necessarily 3)emotionally 4)regularly
82. Parents often forget how important it is to talk to a child, and I think that lack of communication between
these two......... makes understanding more difficult.
I)customs 2)diversities 3) combinations 4) generations
83. I can'tbelieve you ......... all of my shampoo and just left the empty bottle in the shower!
1) died out 2) used up 3) gaveup 4) put aside
84. A: Dr. Gharib was a dedicated physician who was very friendly and helpful to poor families.
B: ......... ! I didn't know such a great man.
1) It's apity 2) Well done 3) I hope not 4) Not surprisingly
85. Now that their business is good enough, they plan to ......... their store by adding another room.
1) replace 2) expand 3)provide 4) found
86. A proper diet, a balanced life style, practicing sports and avoiding ......... can help us live a healthy and
long life.
1) fuels 2) chemicals 3) pleasures 4) addictions
87. A person can gain ......... fast by adding 500 calories to a daily diet, eating 180 grams of protein each day,
and consuming high quality carbohydrates.
1) size 2) weight 3) illness 4) blood pressure

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

The modem age is an age of electricity. People are so used to electric lights, radio, televisions, and telephones
that it is hard to (88)......... what life would be like without them. When there is a power failure, people are
badly affected. Cars may be stuck in heavy traffic because there are no traffic lights (89)......... , and food
goes bad in silent refrigerators.

Yet, people began to understand how electricity works (90)......... two centuries ago. Nature has
apparently been experimenting in this field (91)......... millions of years. Scientists are discovering more
and more that the living world may (92)......... a lot of interesting information about electricity that could
benefit humanity.
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88.

1) save 2) remind 3)compare 4)imagine
89.

1) guide 2) are guiding 3) to guide 4) they guide
90.

1) only more than a little 2) more than a little only

3) for more than only alittle 4) only a little more than
91.

1) since 2) from 3) for 4) in
92.

1) hold 2) learn 3) surround 4) consume

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

PASSAGE 1:

In the early 1990s, many villages turned to solar power in parts of Africa where life was hard because of the
absence of electricity. Perhaps the greatest project of this nature, and one that is often mentioned, is a
Zimbabwean project supported by UNDP through the Global Environment Facility (GEF). The plan, jointly
funded by GEF ($7m) and Zimbabwe ($400,000), made use of some 9,000 solar power systems throughout the
country to improve living standards, but also to decrease land degradation and pollution.

Shamva, 70 kilometers from Zimbabwe's capital, Harare, is now one of the best solar-village models in
the country. Fifty-two commercial farming families share systems; there is one system for every two
houses. Each family has two lamps and aconnection for a radio or small television set. The new lighting
systems have improved the quality of life for the community. They have increased study hours for
schoolchildren, reduced rural-to-urban migration in the area, and upgraded health standards by
electrifying a local health center.

93. What is the best title for the passage?
1) Shamva's Farmers Share Solar Power Systems 2) Zimbabwean Development Program
3) Future of Solar Power in Africa 4) New Ways to Produce Energy

94. According to the passage, the Zimbabwean project ......... .
1) has been successful in one particular village
2) has been financially supported by the Zimbabwean government only
3) has influenced the living standards of some rural people in Zimbabwe
4) has a long way to go before its effects can be actually observed in people's life

95. Which of the following is TRUE about Shamva?
1) It did not use to have a local health center.
2) It is the closest village to Zimbabwe's capital.
3) It is located in an area where access to electricity is very difficult.
4) It is equipped with some solar systems shared by the families living there.

96. What does the word "They" in paragraph 2 refer to?
1) lamps 2) lighting systems 3) people in Shamva 4) radio and television sets

PASSAGE 2:

Culture shock is a term used to describe the process a person experiences when living outside his or her culture
for a long period of time. Culture shock is a reality to manyinternational students. When moving to a new
culture, international students must dealwith a language that may be unfamiliar, incomprehensible customs
and values, andcultural expectations the students may not be fully aware of. As a result, the studentsmay go
through emotional extremes ranging from excitement with the new culture todepression. I, like most foreign
students, had to face the harsh reality of culture shock asl pursued my college career. But it wasn't an easy
process. There's no magic pill or vaccine. To be successful, international students should become familiar with the
process of culture shock, a process that became my way of feeling at ease with French culture.
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97. According to the passage, culture shock is experienced ......... .
1) by almost all international students
2) by students not familiar with their own culture
3) specially when foreign students do not know the language of the foreign country
4) because students who start college are not old enough to take care of themselves alone

98. Which of the following statements is TRUE about the author of this passage?
1) He did not have the problem of culture shock.
2) It took him a long time to adapt himself to his native culture.
3) He spent at least part of his education far from his homeland.
4) He went to France in order to find a job to pay his education fees.

99. According to the passage, an effect of culture shock is ......... .
1) poor language ability
2) excitement with the new culture
3) unfamiliar cultural expectations
4) incomprehensible customs and values

100. The author's purpose of saying, "There's no magic pill or vaccine", is to emphasize the fact that ......... .
1) getting over culture shock is not easy and takes time and effort
2) even doctors cannot help the students who suffer from culture shock
3) medical doctors have not yet found a way to help those who are culturally shocked
4) becoming successful in a foreign country becomes a reality only if foreigners work hard
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark y our answer sheet.

76. The money they asked for in return for the company's services was eight ......... dollars.
1) million 2) millions 3) millions of 4) million of
77.1 am sorry to say so, but ......... of all is that they have grown used to this pattern of behavior.
1) things worst 2) worse things 3) the worst thing 4) the worst of things
78. China is the country ......... paper, silk and gunpowder were first produced in.
1) in that 2) in where 3) in there 4) that
79. Jane believes that her team members easily won the game because they are familiar with teamwork, ......... ?
1) aren't they 2) didn't they 3) didn't she 4) doesn't she
80. All that we children can do is ......... the mistakes of our parents; after all, no human being is perfect.
1) respect 2) forgive 3) suppose 4) exchange
81. The supply of the goods is lower than the ......... existing for it; that is why the prices are so high.
1) bill 2) cost 3) demand 4) discount
82. Tom's parents are fully ......... the academic progress he is making at college these days.
1) available to 2) satisfied with 3) enjoyable to 4) skillful in
83. Nowadays people depend ......... on TV; in fact, they are ever more influenced by whatever they see there.
1) suddenly 2) quietly 3) increasingly 4) hopefully
84. They are hoping to ......... their current training workshop into a large educational center.
1) convert 2) magnify 3) reflect 4) receive
85. We do not always remember that it is a great ......... when everyone in our family feels all right. We should
appreciate this.
1) amazement 2) identity 3) heritage 4) blessing
86. My grandparents have been together for over 50 years and they still ......... !
1) take care 2) get along 3) keep on 4) spare no pain
87. Ever since I moved, none of my old friends have gotten in touch with me. It's ......... with them, evidently.
1) easy come, easy go 2) all the same
3) out of sight, out of mind 4) birds of a feather flock together

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

The Run For it Foundation (88)......... by Albert and Grace Donner in memory of their son Felix, a victim of
brain cancer who passed away in 1985 at the age of 11.

Begun in 1987, the foundation's Fun Run has (89)......... increased in size from almost 50 runners to just over
800 as of last year. Every year the foundation holds ceremonies (90)......... . The first ceremony brought in about
$50,000 for cancer research. This year organizers hope to raise even more money! As the ceremony (91)......... by
volunteers and supported by community donations, every penny raised goes directly to Children's Hospital in
support of cancer research and efforts to (92)......... the lives of children with cancer.

88.
1) that founded 2) it founded 3) was founded 4) founded

89.
1) widely 2) patiently 3) helpfully 4) gradually
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90.

1) to collect money from charitable people 2) for money from charitable people collect

3) which collects from charitable people money 4) that from them charitable people were collected money
91.

1) organizes 2) is organized 3) has organized 4) which is organized
92.

1) cure 2) identify 3) arrange 4) improve

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

PASSAGE 1:

All countries that send objects into space find themselves face to face with a serious problem: space junk. The
"junk" includes parts of rockets, unwanted remaining parts from launches, dead satellites, and other
manufactured items that simply stay there in space with no use at all. There may well be half a million pieces of
dangerous waste in orbit. As you might expect, countries around the world are worried. Many are working on
solutions to destroy the detritus.

Japan's space agency has built an electromagnetic tether. This giant steel and aluminum net, nearly half a mile
wide, would orbit in space and attract metallic pieces as it travels. Once full of waste, the net would fall back into
the Earth’s atmosphere. The gathered pieces would burn upon re-entry. If this net idea works, Japan plans to
build a much larger one.

A Swiss company proposes a different answer. It is developing a spacecraft that would act as a huge device to
collect harmful debris. Like the Japanese net, the Swiss device would fall back into Earth's atmosphere,
destroying its contents in the process.

93. What is the subject of the passage?

1) A new type of waste 2) Useless solutions to a difficulty

3) Difficulty for future space missions 4) Ways to send objects into space
94. Which of the following has been described in the passage?

1) launches (paragraph 1) 2) orbit (paragraph 1)

3) electromagnetic tether (paragraph 2) 4) re-entry (paragraph 2)

95. The device made by Japan's space agency and that made by a Swiss company are similar in all of the
following features EXCEPT that they ......... .
1) collect waste in space
2) look very much alike
3) serve the same purpose
4) are designed to make waste burn on their return to Earth

96. What does the word "one" in paragraph 2 refer to?
1) net 2) idea 3) piece 4) re-entry

PASSAGE 2:

You may think that people are capable of living in a wide range of environments, from the hot deserts of Africa
and the Middle East to the freezing cold of Siberia or Northern Canada. Being an intelligent species, we worked
out how to use fire to keep us warm in cold conditions and, considerably later, air conditioning to keep us cool in
hot climates. But there is a wide variety of organisms capable of living in environments in which no human could
survive-the extremophiles.

Take, for example, Spinoloricus cinzia, a tiny creature, about a millimeter long and looking a little like a
jellyfish. This recently discovered animal is particularly interesting, as it appears to be capable of living without
oxygen and is thus a multi-cellular anaerobe. The cells of most organisms contain mitochondria, which use oxygen
to generate energy, whereas the cells of Spinoloricus cinzia do not contain mitochondria. Most anaerobes so far
discovered are microbes and use a form of fermentation to gain energy. Some anaerobes will actually die in the
presence of oxygen.
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97. What is the main purpose of the passage?
1) To introduce a special type of creature
2) To show the role of fire in human survival
3) To prove the unimportance of oxygen for life
4) To describe newly discovered unfriendly environments

98. Which of the following statements about anaerobic organisms is supported by the passage?
1) They are all discovered and known to us.
2) They can live in a wide range of environments.
3) They have cells all of which have no mitochondria.
4) They are capable of surviving in environments empty of oxygen.

99. What does the word "which" in paragraph 2 refer to?
1) organisms 2) cells of most organisms
3) mitochondria 4) multi-cellular anaerobe

100. Which of the following reasoning techniques is NOT used in the passage?
1) Describing cause-and-effect relationships 2) Describing the steps in a process
3) Referring to differences 4) Use of examples
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76. A: Did anyone help them do the project?

B: No. Those college students, Ted and Tom, ......... did the project. They actually worked together very
hard.
1) who 2) they 3) themselves 4) were those
77. Each year, universities in the West take in quite a number of students ......... come from Asian countries.
1) who 2) they 3) that they 4) most of them
78. It is a fact that all people are ready to try as hard as possible to become happy, ......... ?
1) don't they 2) isn't it 3) aren't they 4) doesn't it
79. The picture painted by the child was so fantastic that even great painters wondered if she ......... it without
any help.
1) had painted 2) was painted 3) have painted 4) would paint
80. Police tried to control the large group of supporters ......... the famous artist.
1) seeking 2) absorbing 3) surrounding 4) identifying
81. The road system was so ......... that we had to stop several times to find out if we were driving in the right
direction.
1) harmful 2) invisible 3) traditional 4) complicated
82. There was a large.......... on the wall saying "No Parking".
1) plan 2) space 3) notice 4) abbreviation
83. You may not believe it, but thousands of years ago, that the Earth was round was a ......... held belief in
Europe.
1) directly 2) widely 3) suddenly 4) surprisingly
84. The role of the police is not to break the rules but make people ......... them.
1) risk 2) obey 3) achieve 4) inform
85. Eating correctly and exercising every day are both needed to help boost ......... in people, young and old alike.
1) resources 2) principles 3) wellness 4) diversity
86. If they know the cause of the problem, they might be able to ......... how to prevent it from happening again.
1) keep on 2) give up 3) turn around 4) figure out
87. We have two people called Paul James working here, so it's a bit ......... !
1) crowded 2) popular 3) incomprehensible 4) confusing

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet

Language is the main (88)......... of communication between peoples, but because there are so many different
languages, people all (89)......... the world have a difficult time understanding one another. (90)......... many
years, people have dreamed of (91)......... an international or universal language which all people could speak
and understand Their reasons are straightforward and clear. If all people (92)......... the same tongue, cultural
and economic connections would be much closer, and good will would increase between countries.

88.
1) means 2) origin 3) demand 4) custom
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89.
1) of 2) for 3) from 4) around
90.
1) Of 2) In 3) For 4) Since
91.
1) create 2) creating 3) to create 4) they create
92.
1) spoke 2) speak 3) have spoken 4) had spoken

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

PASSAGE 1:

Language is one of the important abilities of humans which makes humans stand out from animals, so language
loss raises serious questions about our history, our humanity and perhaps about our future, too. Any study of the
history of language shows that languages, like humans, develop over time. According to some estimates, around
7,000 languages are still spoken in the world. This number is a sign of the diversity and range of human
experience in all around the world. But not all those languages are equally healthy. In fact, while some languages
are healthy and powerful, others are in the process of dying and disappearing. In fact, research shows that
languages are dying out very fast. Some believe that by 2100, most of these languages, perhaps as many as 90% of
them, will no longer exist in the spoken medium. If this were plant life, or whales and dolphins, many people
would be worried and ask something to be done to stop this unlucky process. Yet, surprisingly, there seems to be
little interest in this terrible event. What is lost when a language ceases to exist?

93. What is the subject of the passage?
1) Language loss
2) How languages die out
3) Comparison of modem and old languages
4) The main difference between humans and animals

94. Why does the author make a comparison between languages and humans in the second sentence, "Any study
of the history of language ......... "?
1) Because languages are spoken by humans
2) Because both languages and humans have histories
3) Because both languages and humans do not stay the same in the course of time
4) Because when languages are lost, humans lose whatever knowledge and experience they have collected through them

95. What does the phrase "these languages' refers to?
1) Healthy and powerful languages
2) The languages that are dying out very fast
3) Those languages that manage to survive by 2100
4) The 7,000 languages that are still spoken in the world

96. The passage most probably continues with a discussion of ......... .
1) the reasons why languages die
2) what to do to prevent languages from going out of existence
3) why people are worried about the gradual death of languages
4) what language loss makes us lose in addition to the language itself

PASSAGE 2:

Some people are shy, which means they feel uncomfortable in the presence of others. If you suffer from shyness,
you are not alone, for there are many people having the same problem. According to recent research, close to 50
percent of the general population report that they currently experience some degree of shyness in their lives. In
addition, close to 80 percent of people report having felt shy at some point of their lives. As shyness is so
widespread in the world, it is not surprising that social scientists are learning more about its causes. They have
found that shyness in an individual can result from both biological and environmental factors.



2955 ol uadSl 03 IY

Recent research shows that some people are genetically predisposed to shyness. In other words, some people
say that some people are born shy. Researchers say that between 5 and 20 percent of newborn babies show signs
of shyness: they are quieter and more watchful. Researchers have identified physiological differences between
sociable and shy babies that show up as early as two months. In one study, two-month-olds who were later
identified as shy children reacted with signs of stress when they were shown moving mobiles and tape recordings
of human voices: increased heart rates, jerky movements of arms and legs, and excessive crying. Further evidence
of the genetic basis of shyness is the fact that parents and grandparents of shy children more often say that they
were shy as children than parents and grandparents of non-shy children.

97. Social scientists have tried to find out about the causes of shyness because ......... .
1) it is a problem many people suffer from
2) it surely has a mental but not a physical origin
3) previously suggested ways to control it did not work
4) some people who report that they are shy may not really be shy

98. It can be concluded form paragraph 2 that if a person's parents and grandparents are shy, he ......... .
1) would turn out to be less sociable than they were
2) needs to see a medical doctor immediately
3) has had a difficult childhood
4) is likely to be shy too

99. The word "'they" in paragraph 2 refers to ......... .
1) signs of stress
2) two-month-olds
3) shy children in general
4) mobiles and tape recordings of human voices

100. Which of the following statements is TRUE, according to paragraph 2?
1) No one is born shy.
2) There are physiological differences between shy and sociable babies.
3) Shy people are typically quieter but less careful than those who are not shy.
4) Heart rates, jerky movements of arms and legs, and excessive crying are some physiological causes of shyness.
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark y our answer sheet.

76. The tour guide warned the people who relied on him ......... in the park when the night falls.
1) they do not 2) not to walk 3) that they not walk 4) not walking
77. The newly employed girl is more efficient ......... they have ever had.
1) than any other secretary 2) any other secretary than
3) secretary than any other 4) any other than secretary
78. While skiing, the young boy broke his leg and ......... to the hospital immediately.
1) would be taken 2) had to be taken 3) had taken 4) took
79 cieennens in a short time, especially when you are a true beginner, is something almost impossible to do.
1) A language to learn 2) You learn a language
3) Learning a language 4) A language which you learn
80. The electricity they ......... is not enough to meet their country’s needs.
1) achieve 2) collect 3) require 4) generate
81. Micheal Mann, a/an ......... professor of atmosphere science, has been invited to give a speech about the
dangerous effects of global warming.
1) offered 2) donated 3) identified 4) distinguished
82. The man wrote a book based on the events he had recorded in a/an ......... that he kept during the war
between his country Japan and China.
1) loss 2) diary 3) mission 4) imagination
83. Can you two just ......... your differences for now and get this done together, please?
1) put aside 2) keep on 3) call back 4) get away
84. Based on the belief that our worldview is influenced by language we speak, it is often concluded that language
is like a pair of eyeglasses through which we “see” the world in a/an ......... way.
1) decorated 2) intermediate 3) particular 4) monolingual
85. With all his energy ......... already, the jogger was not able to take one more step ahead and so sat down to
rest.
1) turned off 2) passed away 3) used up 4) given up
86. The war was very depressing but gave to the community a greater ......... of togetherness.
1) sense 2) device 3) factor 4) notice

87. A: “We’ve got my boss, his boss, the assistant manager, an advisor, and the head of IT all involved in this
project, and it’s turning into a complete failure!”

B: “Well, ......... , after all!”
1) birds of a feather fly together 2) practice makes perfect
3) two heads are better than one 4) too many cooks spoil the broth

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

It’s difficult to say. Lots of people played a part in the development of the cinema. A man called Muybridge
(88)......... the first moving picture in 1878. It was a film of a horse running and it was only a few seconds long.
By 1895, other people (89)......... various machines for showing moving pictures, but many of these could only
90)......... by one person at a time. The development of machines that could project films onto a screen was
important. Thomas Edison was one of the first to show very short films to audiences of 20 or (91)......... people.
His films showed acrobats and dancers performing, or everyday (92)......... like a man eating!
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88.

1) he made 2) to make 3) making 4) made
89.

1) were inventing 2) would invent 3) have invented 4) had invented
90.

1) watch 2) be watching 3) be watched 4) been watched
91.

1) few 2) more 3) the most 4) a few
92.

1) events 2) customs 3) images 4) conditions

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

PASSAGE 1:

It is said that most people have no more than 30 friends at any given time, and 400 over the whole of their lives.
However, on social networking sites, most users have about 150 friends. If these numbers are correct, then
friendship means different things in different situations.

One of the reasons people have more online friends than real friends at any particular point in time is that
online friendships do not require much time and energy: it is easy to make Internet friends and keep them
forever. Another possibility is that it is difficult to say “no” when somebody asks us to be their friend online, even
if we feel we don’t really know them. The fact that they ask us suggests that they do consider us a friend, which is
a nice feeling. Alternatively, they may be “collectors” of online friends and simply want to use us to get a higher
number of friends and appear to be popular.

Online friendships are quite easy, but in the real world things are much more difficult. There are no rules
about friendship. There are no guidelines about how to make friends, how to keep friendships going, and how to
finish friendships if we want to move on. People also have very different opinions about friendship: some people
would die for their friends and value them more than family. Others feel that friends are temporary, only there to
help each other until they are no longer needed. If people with such different views become friends, this can lead
to problems.

93. It can be understand from the passage that ......... .
1) people turn to the Internet to make friends because they no longer alue friendships
2) the situation in which people make friends influences the actual nature of their friendship
3) online friendships last longer than real frienships that were a mrk of past relationships
4) the Internet has made people so close that people pay more attention to their friends than to their family members

94. Which of the following best describes the function of paragraph 2 in relation to paragraph 1?
1) Paragraph 2 explains why the claim made in paragraph 1 is true.
2) Paragraph 2 brings in some reasons to question the position taken in paragraph 1.
3) Paragraph 2 discusses the effect of the change in friendship explained in paragraph 1.
4) Paragraph 2 expands one of the reasons mentioned in Paragraph 1 about why people nowadays have some friends.

95. What does paragraph 3 mainly discuss?
1) Why making friends online is not difficult
2) People’s opinions about the role of friends in their lives
3) What makes making friendships offline in the real world harder
4) The reasons why it is necessary to change the way people make friends online

96. The word “this” in paragraph 3 refers to ......... .

1) the link between people becoming weak 2) trying to find as many friends as possible
3) having different views towards friendship 4) people with different views becoming friends

PASSAGE *:

Both men and women are living longer these days in the industrialized counties. However, women, on the average,
live longer. In general, they can expect to live six or seven years more than men. The reasons for this are both
biological and cultural.
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One important biological factor that helps women live longer is the difference in hormones between men and
women. Hormones are chemicals which are produced by the body to control various body functions. Between the
ages of about 12 and 50, women produce hormones that are involved in fertility. These hormones also have a
positive effect on the heart and the blood flow. In fact, women are less likely to have high blood pressure or to die
from heart attacks.

The female hormones also protect the body in another way. They help the body to defend itself against some
kinds of illnesses. This means that women generally get sick less often and less seriously than men. The common
cold is a good example: women, on average, get fewer colds than men.

Women are also helped by their female genes. Scientists are still not exactly sure how genes influence aging,
but they believe that they do. Some think that a women’s body cells age more slowly than a man’s. Others think
that a man’s body cells age more quickly. Recent research seems to support both of these possibilities.

97. What is the main purpose of the passage?
1) To explore reasons for a fact
2) To compare and contrast two different findings
3) To follow the historical line of a new development
4) To show the role of medical advancement in people’s life expectancy

98. How many biological factors does the passage mention as having an effect on women’s living longer them
man?
1) One 2) Two 3) Three 4) Four

99. What is the purpose of the example mentioned in paragraph 3?
1) To emphasize the role of illnesses in reducing people’s hope of living long
2) To prove that hormones can in fact help women in more than two ways
3) To support the claim made for the role of female hormones
4) To refer to the most important illness influencing women

100. Which of the following statements is supported by the passage?
1) Not all men live shorter lives than women do.
2) Men used to live longer than women before the world became industrialized
3) Scientists believe that genes are more effective than hormones to help women live long.
4) Scientists agree with one another about how genes make women age more slowly than men.
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Part A: Grammar and Vocabulary

Directions: Question 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark y our answer sheet.

76. Catherine explained the lesson to the class ......... an experienced teacher.
1) as good as 2) as well as 3) the best of 4) better than that
77. 1 failed to meet the professor simply because I arrived minutes after he ......... .
1) would leave 2) was leaving 3) has left 4) had left
78. Nolde states that ......... the 1st of February 1893 in the desert north of Hail the temperature fell from 78° a
little before sunset to 18° a quarter of an hour after.
1) at 2) in 3) on 4) for
79. I am absolutely sure that Jennifer would do the same task differently if she ......... you.
1)is 2) was 3) were 4) had been
80. We didn't win this time, but we never become hopeless and live to ......... another day.
1) fight 2) rise 3) lose 4) defend
81. The car had to be ......... because it was old and no longer in working condition.
1) converted 2) replaced 3) expanded 4) prevented
82. This business company needs a ......... secretary—a secretary who can speak Arabic besides her own
native language.
1) familiar 2) bilingual 3) intermediate 4) hardworking
83. Body movement is a/an ......... of communication; it is in fact the unspoken element of communication.
1) origin 2) result 3) means 4) synonym
84. Hasan’s mother died when he was two and he was actually ......... by his father alone.
1) brought up 2) depended on
3) kept to himself 4) watched out
85. One group was ......... the explanation, but the other group asked for much more explanation.
1) ready for 2) absorbed in 3) uncertain of 4) satisfied with
86. With all his unhealthy habits taken into consideration, it's a ......... he's lived this long.
1) wonder 2) worry 3) treasure 4) document
87. Many people around the world regard Nelson Mandela as a very wise man and ......... him very much.
1) offer 2) remind 3) dedicate 4) respect

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Have you ever wanted a certain vegetable at the wrong time of the year? Have you ever come home from a long
day only to (88)......... that you have no vegetables for your dinner? I’ve been there. I enjoy (89)......... my
vegetables with my dinner.

Dinner feels incomplete without just the right vegetable on my plate. But it seemed that every time I wanted to
have a certain type of vegetable, it was always the (90)......... time. Well, not anymore! I’ve begun freezing my
own vegetables, and I’m happy to say that now I have my (91)......... vegetables all year long, not to mention the
savings. To most people, freezing vegetables seems like a time-consuming and (92) process; however, it’s really
very simple. You just need to know which kinds of vegetables are freezable, how to prepare them, and how to
blanch them.

88.
1) believe 2) identify 3) discover 4) inform

89.
1) have 2) having 3) to have 4) from having
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90.

1) wrong 2) exact 3) possible 4) enjoyable
91.

1) vast 2) recent 3) favorite 4) expensive
92.

1) complication of 2) to complicate 3) complicate 4) complicated

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

PASSAGE 1:

It is said that about 40 per cent of the world’s population use social media, and many of these billions of social
media users look up to influencers to help them decide what to buy and what trends to follow. So what is an
influencer and how do we become one?

An influencer is a person who can influence the decisions of their followers because of their relationship with
their audience and their knowledge in a particular area, e.g. fashion, travel or technology. Influencers often have
a large following of people who pay close attention to their views. They have the power to make people buy things,
and influencers are now seen by many companies as a direct way to customers’ hearts. Brands are now asking
powerful influencers to market their products. With some influencers asking for $25,000 for one social media
post, it is no surprise that more and more people are interested in becoming influencers too. If you are one of
them, then here are five tips on how to do it.

First, choose your niche. What is the area that you know most about? What do you feel most excited talking
about? Find the specific area that you’re most interested in and develop it. Next, choose your medium and write
an interesting bio. Most influencers these days are bloggers and micro-bloggers. Decide which medium—such as
your own online blog, Instagram or Snapchat—is the best way to connect with your followers and chat about your
niche area. When you have done that, write an attention- grabbing bio that describes you and your specialty area
in an interesting and unique way. Make sure that people who read your bio will want to follow you.

93. What is the main purpose of paragraph 2?
1) To describe who an influencer is
2) To identify new ways of social media
3) To help influencers do their job better
4) To explain why people follow social media posts

94. It can be understood from the passage that more and more people would like to be influencers because this
way they could ......... .
1) have a large number of followers
2) make a considerable amount of money
3) increase their knowledge in different fields
4) help people make the right decisions in their lives

95. According to the passage, what is an influencer’s niche?

1) His/Her followers 2) The companies he/she works for

3) The area in which he/she is knowledgeable 4) His/Her social media posts as an influencer
96. Which of the following is NOT named as a medium in paragraph 3?

1) online blog 2) Instagram 3) Snapchat 4) bio
PASSAGE 1:

At the start of every new year, many of us promise ourselves that a certain number of times a week we will go to
the gym, go jogging, attend an exercise class, etc. But many of us have a hard time including exercise in our lives,
or we start off well and then stop.

The key could be to find the right type of exercise for you. After all, if we end up doing something we enjoy
and can see the positive effects of, we are more likely to do it for longer than a few weeks. Studies suggest that six
weeks are all it takes to form a habit, so once we have managed to continue for that length of time, chances are
that exercise has become a routine part of our lives that we do not question. So what exercise is right for you?
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First of all, you need to find out what your goal is. Are you mainly interested in de-stressing or in getting
healthier? If your important goal is relaxation, then ask yourself if you want to do this energetically, in which case
a type of exercise based on boxing may, for example, be right for you. If you have a calmer style, then you could
choose some exercise you can do alone, such as walking, doing some gardening, or selecting a brisk daily walk
around the block. If you get more interested in working with others, then you could join a tennis, fitness or t’ai
chi class, all designed to stretch and strengthen your muscles and with the added benefit of calming the mind.

97. The passage claim that many of those who promise themselves at the beginning of each new year that they
would start doing some type of exercise ......... .
1) never join a sports club
3) have not already done any exercise

2) fail to keep their promise
4) can only exercise several times a week

98. On the whole, the passage is intended to ......... .
1) help people choose the right exercise for themselves
2) introduce the positive effects of exercise on people’s health
3) explain the reasons why people stop exercising after some time
4) compare and contrast different types of exercise plans with one another

99. The passage mentions all of the following about the effects of joining a t’ai chi class EXCEPT ......... .
1) working with others 2) getting relaxation
3) strengthening your muscles 4) calming the mind

100. According to the passage, doing exercise can become a habit if the person doing it
1) has made himself/herself a promise to do so 2) knows about his goal of exercising
3) selects an easy type of exercise 4) goes on doing it for six weeks
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark y our answer sheet.

76. The students were told to make sure ......... during the examination time at school.
1) their time to not waste 2) not to waste their time
3) that do not waste their time 4) not wasting their time
77. Since she ......... the proper lens for her camera, she wasn't able to take pictures of the unusual scene.
1) was not bringing 2) has not brought 3) had not brought 4) would not bring
78. The modern train appeared to be going as fast as, perhaps even faster than, ......... .
1) a car the fastest 2) fastest cars 3) a car is the fastest 4) the fastest car
79. The two friends planned to leave their home country ......... September 15, 2020.
1) on 2) at 3)in 4) for
80. The police are asked to take immediate action to ......... further road accidents.
1) save 2) defend 3) prevent 4) surround
81. Stress can cause a variety of physical ......... ranging from headaches to stomach ulcers.
1) combinations 2) disorders 3) patients 4) notices
82. In my opinion, anyone with ......... values would do everything possible to avoid war.
1) brave 2) moral 3) favorite 4) hospitable

83. The photos Paul takes are almost always the same and boring, but his new collection of photos are .........
exciting and attractive.

1) unexpectedly 2) suddenly 3) invisibly 4) willingly

84. Whenever I want to read an English story, I first ......... the meaning of new words in a dictionary and only
then begin reading the story.
1) stand for 2) check in 3) pass away 4) look up

85. Having been a nurse a few years ago was a ......... for Victoria as a mother; it actually allowed her to take
better care of her baby.
1) demand 2) function 3) blessing 4) souvenir

86. The old man down the street always ......... to himself. I just realized I don't even know his name.
1) keeps 2) cares 3) gives up 4) gets away

87. Mary: This watch is for your birthday, Pam.
Pam: Thank you, but this watch looks cheap, so I don’t know if I’m going to wear it.

Pam’ mother: ......... .
1) The early bird catches the worm 2) Actions speak louder than words
3) Don’t look a gift horse in the mouth 4) Don’t count your chickens before they hatch

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Recent advances in the fields of medicine and biotechnology (88)......... in situations that could not be even
89)......... only a generation ago. Battery-operated plastic hearts can be implanted into people. People
90)......... be kept alive indefinitely by machines. (91)......... of animals can be made. While such scientific
achievements may ultimately help (92)......... , they have also created complex legal and ethical issues.

88.
1) will result 2) was resulting 3) had resulted 4) have resulted



25 gl Sl 05 T

89.

1) replaced 2) imagined 3) compared 4) required
90.

1) can 2) should 3) must 4) are going to
91.

1) Exactly copies 2) Copies exactly 3) Exact copies 4) Copy exact
92.

1) ethics 2) behavior 3) heritage 4) humankind

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

PASSAGE 1:

For thousands of years, people have tried to find ways to keep food for longer. In the past, this was important as
people needed to save fresh food for times when it was hard to find, such as the winter. Today there are still many
places without electricity and people living in these places need to preserve food in ways that don’t use
refrigerators. They need to make food last as long as possible.

Drying is the oldest type of food preservation. If water is removed from food, the bacteria can’t grow. In
ancient times in hot countries, people simply left fruit and meat outside to dry in the sun and the wind until all its
natural water was gone. This made the fruit last a very long time. Drying fruit sometimes results in a completely
new product. For example, grapes turn into raisins and plums turn into prunes. Drying food in the sun does not
work in cooler or wetter climates, but people have other methods to preserve food in cold places.

93. The word “preserve” in paragraph 1 is closest in meaning to .......... .
1) need 2) find 3) last 4) save

94. What is the subject of paragraph 2?
1) How food preservation prevents the growth of bacteria
2) Types of food that can be preserved
3) Importance of food preservation
4) A food preservation technique

95. In paragraph 2, what is the role of the example of “grapes turn into raisins and plums turn into prunes”?
1) To describe an unusual event
2) To support an earlier statement
3) To describe a food preservation mechanism
4) To emphasize the function of fruit as a food source in the past

96. The passage is most likely to continue with a discussion of .......... .
1) different ways used by people in cold regions to prepare food stuff
2) why drying was first used in hot countries
3) some other food preservation methods
4) how people in cold places found food

PASSAGE 2:

One single person cannot be named as the one responsible for the invention of the cinema. In fact, Lots of people
played a part in the development of the cinema. A man called Muybridge made the first moving picture in 1878.
It was a film of a horse running and it was only a few seconds long. By 1895, other people had invented various
machines for showing moving pictures, but many of these could only be watched by one person at a time. The
development of machines that could project films onto a screen was important. Thomas Edison was one of the
first to show very short films to audiences of 20 or more people. His films showed acrobats performing, or
everyday events like a man eating!

At first, films were only a few minutes long. They were black and white and silent. They were usually
documentaries about different places or news events, or comedies showing people falling over and making funny
faces. Later they became longer stories, but there was still no sound. Instead, there might be a musician playing a
piano in the hall while the film was shown.



g %Aﬁﬂlﬂ)ﬁﬁh&”)ﬁ:\w

Musicals were probably the most popular kind of film throughout the 1930s and 1940s. A very famous actress
and singer at that time was Shirley Temple—she was a five-year-old girl everyone loved watching perform on

stage.

97. What question is paragraph 1 mainly intended to answer?
1) Who invented films?
2) What did early films look like?
3) Why were early films short and simple?
4) How long did the cinema take to become popular?

98. The word “they” in paragraph 2 refers to .......... .

1) films 2) documentaries

3) funny faces 4) places or news events, or comedies
99. The passage refers to all of the following as scenes shown in films EXCEPT .......... .

1) someone singing on stage

2) a man eating some sort of food

3) someone doing acrobatic movements

4) a musician playing a musical instrument

100. Which of the following can be concluded about films in the 1930s and 1940s?
1) They were still watched by a few people at a time.
2) They were not only visual but also audio.
3) They still did not have any storyline.
4) They were musicals only.
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76. In free writing, you should not worry about spelling or punctuating correctly, about erasing mistakes, about

organizing material, or .......... exact words.
1) finding 2) how to find 3) about finding 4) the finding of
77. Gerald .......... forgot to lock the door the night our restaurant was robbed.
I)and I 2) or myself 3) and I themselves 4) himself and myself
78. Rescue helicopters had searched the whole area for the missing hikers for five hours before they finally
.......... them in a remote area.
1) were found 2) would find 3) were finding 4) found
79. Mr. Thomason, the company president, is not a generous man. If I .......... the company President, I would
for sure donate some money to charity.
1) was 2) were 3) be 4) would be
80. We are an old nation proud of our national .......... .
1) generation 2) combination 3) continent 4) heritage
81. The children paid .......... attention when the teacher began explaining what would be on the next big exam.
1) particular 2) popular 3) willing 4) amused
82. Having to pay out .......... for car repairs made a big hole in my savings.
1) safely 2) absolutely 3) carelessly 4) unexpectedly
83. I think we should all respect nature and governments should do more to .......... environmental damage.
1) require 2) prevent 3) protect 4) convert
84. Henry likes to take long showers and .......... all the hot water before others get a chance to bathe.
1) fall down 2) pass away 3) use up 4) turn off
85. The man’s .......... speech made little sense to the people in the audience, so many left before he was half
through.
1) ancient 2) countless 3) monolingual 4) incomprehensible
86. Kinetic learners are students who learn better when they are allowed to be .......... .
1) cheerful 2) emotional 3) active 4) sociable
87. No, no. You seem to not have gotten the .......... I have been trying to make; all I mean is that you should

take better care of yourself.

1) point 2) matter 3) issue 4) advice

Part B: Cloze Test

Directions: Questions 88-92 are related to thefollowing passage.Read thepassage and decide which choice
(1),(2),(3), or (4) bestfits each space. Then mark your answer sheet.

The human eye is nature’s most fantastic organ, and the high degree of development of human society probably
depends upon (88) .......... . When nature first developed this intricate and adaptable organism, human eyes (89)
.......... mainly for outdoor work and living. With the stress of indoor life and unnatural lighting, much pressure
is placed on eyes today. Sometimes more than nature’s assistance is needed to keep eyes in shape for the many
uses they (90) .......... in modern life. It is also true that we have (91) .......... man’s normal lifespan to almost
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twice what it was in ancient societies. Visual problems also increase with age, and eyes usually need some
corrective (92) .......... as one grows older.

88.

1) this organ is developing 2) this organ develops

3) developing of this organ 4) the development of this organ

89.

1) used 2) we used 3) were used 4) have been used
90.

1) serve 2) improve 3) identify 4) receive
91.

1) expanded 2) replaced 3) saved 4) ranged
92.

1) skill 2) care 3) space 4) addiction

Part C: Reading Comprehension

Directions: In this part of the test you will read two passages. Each passage is followed by four questions.
Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

A kind of bird known as pigeons have been taught to recognize human facial expressions, weakening long-hold
beliefs that only humans have the sophisticated nervous systems to perform such an act. In some recent
experiments, eight trained pigeons were shown photographs of people displaying emotions of happiness, anger,
surprise, and hatred. The birds learned to recognize the difference between these expressions. Not only that, but
they were also able to correctly identify the same expressions on photographs of unfamiliar faces. Their
achievement does not suggest, of course, that the pigeons had any idea what the human expressions meant.

Some psychologists have theorized that because of the importance of facial expression to human
communication, humans developed special nervous systems capable of recognizing subtle expressions. The
pigeons cast doubt on that idea, however. In fact, the ability to recognize facial expressions of emotion is not
necessarily inborn even in human babies, but may have to be learned in much the same way pigeons learn. In
experiments conducted several years ago, it was found that pigeons organize images of things into the same logical
categories that humans do.

93. What is the subject of the passage?

1) Differences in communication between humans and pigeons
2) Importance of body movement in human communication

3) Recognition of facial expressions

4) Emotions that our face can show

94. The passage suggests that the belief that animals may also be able to recognize facial expressions .......... .

1) proves that they understand what each facial expression means
2) holds true in relation to trained, but not untrained, birds

3) was supposed to be wrong

4) is a long-held one

95. Which of the following describes the author’s attitude towards the idea that the ability to recognize facial
expressions of emotion is inborn (paragraph 2)?

1) Uncertain 2) Frightened
3) Shocked 4) Amused
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96. The phrase “that idea” in paragraph 2 refers to the idea .......... .

1) that pigeons can learn new things

2) expressed by the psychologists mentioned in paragraph 2

3) that recognizing facial expressions is important to human communication

4) according to which to recognize facial expressions of emotion is not necessarily inborn

PASSAGE 2:

For most modern airports, the major design problem is scale—how to allow enough space on the ground for
maneuvering wide-body jets while permitting convenient and rapid movement of passengers departing, arriving,
or transferring from one flight to another. Most designs for airport terminals take one of four approaches.

In the linear plan, the building may be straight or curved. The passengers board aircraft parked next to the
terminal. This plan works well for small airports that need to provide boarding areas for only a few aircraft at a
time.

In the pier plan, narrow corridors or piers extend from a central building. This plan allows many aircraft to
park next to the building. However, it creates long walking distances for passengers.
In the satellite plan, passengers aboard aircraft from small terminals that are separated from the main

terminals. Passengers reach the satellites by way of shuttle trains or underground passageways that have moving
sidewalks.

97. The passage would most probably continue with a discussion of .......... .

1) the best airport design

2) another approach to airport design

3) the reasons why airport design is important

4) the advantages and disadvantages of each airport design

98. According to the passage, the linear plan is more appropriate for airports .......... .

1) with small planes

2) that offer domestic flights

3) the passengers of which prefer to board planes as quickly as they can
4) that can provide service to a limited number of planes at the same time

99. Which of the following is defined in the passage?
1) scale (paragraph 1) 2) terminals (paragraph 4)
3) board (paragraph 2) 4) passageways (paragraph 4)

100. In which of the designs described in the passage are buses used and the passengers must climb a flight of
stairs to board the aircraft?

1) Linear 2) Pier 3) Satellite 4) None
76 3 81 1 86 3 91 1 9% 2
77 1 82 4 87 1 oPN 2 O 2
78 4 83 2 88 4 93 3 98 4
79 2 84 3 89 3 94 3 9 1
80 4 8 4 90 1 95 1 100 4
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76. The exercise did not seem to be as easy .......... I thought it would be.
1) that 2) than 3) from 4) as
77. An article in Space Science magazine reports that astronauts who live aboard space stations for long periods
of time .......... physical as well as mental problems.
1) who may experience 2) may experience
3) then they may experience 4) they may experience
78. Some people think those who plan to get married .......... to take marriage preparation classes for some time
before their wedding.
1) need 2) to need 3) they need 4) are needed
79. Economists are concerned that the rate of inflation will double if the government .......... take immediate
steps to control it.
1) were not 2) will not 3) does not 4) did not
80. To some people, the study of history is so valuable and is to be .......... as essential to a full education.
1) supplied 2) regarded 3) attended 4) informed
81. He received a phone call from the store telling him that someone had to be home to accept .......... of the
package they had ordered.
1) delivery 2) discount 3) demand 4) access
82. .......... filled the minds of all of the passengers aboard the falling airplane.
1) Dread 2) Emotion 3) Disorder 4) Pain
83. Layla felt .......... because nobody paid attention to her and behaved as if she wasn’t there.
1) rude 2) cruel 3) invisible 4) unchangeable
84. Because the writer penned over two thousand poems, it will take a while for the publisher to .......... the
poetry into one single book.
1) exchange 2) compile 3) recite 4) surround
85. There are many English words whose .......... can be followed back to the Greek language.
1) item 2) issue 3) sense 4) origin
86. A dictionary .......... is a setof information that describes a word or phrase.
1) abbreviation 2) calligraphy 3) guide 4) entry
87. The new computer system is so .......... that no one at the office is able to use it properly.
1) serious 2) skillful 3) complicated 4) distinguished

Part B: Cloze Test

Directions: Questions 88-92 are related to thefollowing passage.Read the passage and decide which choice
(1),(2),(3), or (4) best fits each space. Then mark your answer sheet.

Fossil analysis shows that at least five periods in the last 600 million years (88) .......... a drastic reduction in the
number of species of plants and animals on the Earth. However, on previous occasions such changes were (89)
.......... by asteroids or dramatic climatic changes. Scientists in general believe that this (90) .......... is the work
of man. The dominance of a single species type, homo sapiens, is badly hurting the rest of (91) .......... . With a
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population of barely six billion, humans are rapidly (92) .......... irreplaceable ecosystems. This sixth round of
global dying of species could be far larger than the first five.
88.

1) have seen 2) was seen 3) see 4) saw
89.

1) fixed 2) caused 3) avoided 4) endangered
90.

1) factor 2) origin 3) ability 4) reduction
91.

1) the living world 2) world’s life 3) the life of world 4) the world life
92.

1) generating 2) leaving 3) destroying 4) expanding

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.
Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

Throughout history, the difference between the old and the young has been a defining feature of both reality and
literature. Parents have power over their children ... but as those children get older, they begin to put pressure on
their parents’ power. They test the rules; they rebel; they create their own rules. The parents are puzzled,
disappointed and angry about the shift in the balance of power. They fight back; try to control their young sons and
daughters in an attempt to maintain their power. But as they grow towards old age, they are forced to relinquish it
and hold their hand up, while the world changes into a place they can hardly recognize from their youth.

The fight between old and young has also become a feature of the twenty-first century, as we approach a
period where the balance of power reaches a new territory. This is not to say that relationships between the
generations are expected to worsen; rather that the new demographic changes to come will have knock-on effects
that we cannot yet imagine.

93. According to the passage, the gap between the old and the young .......... .

1) is not a new story in human life 2) has changed in favor of the old
3) has become less and less over the years 4) has become wider in the twenty-first century
94. Parents’ reaction towards the change of power balance, as described in paragraph 1, can be described as all
of the following EXCEPT .......... .
1) hopelessness 2) confusion 3) anxiety 4) anger

95. The word “relinquish” in paragraph 1 is closest in meaning to .......... .

1) retake 2) leave 3) enhance 4) follow
96. Which of the following best describes the function of “This is not to say” in paragraph 2?

1) To make a logical conclusion
2) To repeat an earlier statement
3) To introduce a new topic for discussion
4) To prevent a probable misunderstanding

PASSAGE 2:
When we take part in an online class, where are our bodies? Our physical bodies are positioned in front of our
computers, but our virtual bodies can be anywhere imagined.

We indeed use this separation between the physical and virtual body when we talk on the telephone. I would
disagree with Dreyfus that this split makes us anonymous, because in the online class our responses are always
posted with our names attached.
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But the fact that we have no physical presence, Dreyfus argues, means that any learning that occurs can only
be intellectual, not practical. In other words, it is more on a theoretical level than involving a grasping and
mastery of particular skills. He thinks that true learning can only take place from physically being somewhere
and doing a particular activity, and it is only under these conditions that information becomes relevant and
people come to meaningfully understand reality. But if this is true, how can anyone learn anything from a book,
newspaper, television, radio, a letter, or c-mail? Is not the expression of the content more important than the
medium through which it is expressed?

97. Which of the following is implied in the passage about the author’s opinion about online classes?

1) They will never ever be accepted in educational circles.

2) They are useful devices to employ for teaching and learning.

3) They are more helpful for teaching practical skills than theoretical ideas.

4) There would come a time when they will replace physical classes altogether.

98. The word “it” in the passage refers to .......... .

1) intellectual learning 2) physical presence
3) online class 4) learning

99. Why has the author mentioned “a book, newspaper, television, radio, a letter, or e-mail” near the end of the
passage?

1) To question a claim made by Dreyfus

2) To refer to different ways of learning

3) To argue that technological progress is unavoidable

4) To make the reader remember that people have different learning preferences

100. There is enough information in the passage to answer which of the following questions?

1) What are some of the practical skills that are learned best through the medium of physical classes?

2) Why do we use the separation between the physical and virtual body when we talk on the telephone?

3) Why does the author believe that the separation between the physical and virtual body does not make us
anonymous?

4) How is it that the author believes that the expression of the content is more important than the medium through
which it is expressed?

76 4 81 1 86 4 91 1 9% 4
77 2 82 1 87 3 92 3 O 2
78 1 8 3 88 1 93 1 98 4
79 3 84 2 89 2 94 3 9 1
80 2 8 4 90 4 95 2 100 3
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Part A: Grammar and Vocabulary

Directions: Question 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76. This man is the richest man in the world, and the first man .......... a home costing more than one billion
dollars to build.
1) he has 2) has 3) to have 4) who he has
77. The famous athlete was born in a small town .......... September 12", 1980.
1) on 2) at 3)in 4) for
78. There is no clear evidence stating where and when football .......... , but most historians agree that some type
of ball game had been played centuries before the modern game developed in England.
1) invented 2) was invented 3) was inventing 4) would be invented
79. The most successful business people .......... the needs of the future earlier than the competition.
1) those are who predict 2) predict those that are  3) who those predict are  4) are those who predict
80. I think the arts are as .......... as math and science and thus should be taken very seriously.
1) peaceful 2) essential 3) skillful 4) traditional
81. It was difficult, but after many years I was able to .......... the man that had hit me with his car and taken my
ability to walk.
1) hate 2) forgive 3) expect 4) appreciate
82. Naturally, Venice is very crowded and hotels and restaurants are expensive, but it is now a ..........
opportunity and a great time for me to experience this beautiful city.
1) unique 2) sociable 3) recent 4) creative
83. It’s good that they weren’t .......... in danger in this project, but I agree, in a real situation people could have
been killed.
1) actually 2) bravely 3) carelessly 4) uncertainly
84. The service they have started is intended to .......... the needs of students in different age groups.
1) function 2) meet 3) range 4) obey
85. When you face an unfamiliar word, you had better .......... its meaning in a bilingual dictionary.
1) think of 2) keep to 3) look up 4) keep on
86. At first, the voters did not take much .......... of him as the right man for the post, but now they believe he is
effective enough.
1) notice 2) matter 3) interest 4) attention
87. As the president of a large corporation, Jeff must act with .......... and honesty to be successful.
1) heritage 2) blessing 3) achievement 4) dedication

Part B: Cloze Test

Directions: Questions 88-92 are related to thefollowing passage.Read thepassage and decide which choice
(1),(2),(3), or (4) bestfits each space. Then mark your answer sheet.

It is surprising to realize how popular fast food has become (88) .......... the first fast food restaurant opened 100
years ago. Since then, high-calorie processed meals have spread all over the world, with multinational restaurant
chains quickly experiencing (89) .......... that show no signs of slowing down. Much of this (90) ......... is
currently taking place in less developed parts of the world, where potential for customer loyalty is seen as easier
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to develop, but it is not just in these areas where such growth is (91) .......... . Indeed, a recent study found that
such an increase also happened in Europe where the number of takeaways (92) .......... by 45 per cent between
1997 and 2015.
88.
1) for 2) in 3) one of 4) since
89.
1) growth level 2) growth of level 3) level of growth 4) growth in level
90.
1) expansion 2) improvement 3) likelihood 4) inspiration
91.
1) exact 2) visible 3) tiny 4) uncertain
92.
1) hit 2) took 3) rose 4) left

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.
Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

The country of Australia has a vast area of land called “the outback”, where few people live. If you live in the
outback, chances are you’re far from any town. And that means you’re a long way from a school. So what do you
do if you can’t go to school? Well, school comes to you. Over 100 kids in the outback attend ASSOA—Alice
Springs School of the Air. ASSOA students are connected by the Internet.

Some lessons happen in real time. When students log in, their teacher appears on their computer screens. She
can talk to students, show an art project, or explain a science experiment. She can’t see the students, but she can
hear them. Students communicate with their teacher and with each other over the Internet, using their
computers. But because students are in a “virtual” classroom and not at a physical school, they must still have a
home tutor. The tutor can be a parent or a hired teacher. All tutors are trained to help students understand and
complete their work.

ASSOA tries to create a school community. Every two weeks, students attend a virtual school assembly. Three
times a year, all students travel to the town of Alice Springs. For an entire week, they leave the virtual classroom
and enter a real one.

93. What is the best title for the passage?

1) A Look at Future 3) The Model of Australia
2) School is a Click Away 4) An Outback is Really an Outback

94. Which of the following can be inferred about towns in Australia?

1) They are Internet providers for people in the outback.
2) They are closer to the outback than to major cities.

3) They present education through the Internet.

4) They actually have physical schools.

95. Which of the following is true about kids in the outback, according to the passage?

1) Most of their lessons happen in real time.

2) They have teachers who visit them at home.

3) They have access to low educational standards.

4) They attend a physical school for a short time once every year.

96. According to the passage, the real-time virtual classes that the students have are classes in which .......... .

1) the teacher can see the students 2) the students can see their teacher
3) the teacher is also each student’s tutor 4) the students can’t talk with one another
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PASSAGE 2:

When an earthquake hit the ancient Greek cities of Helike and Boura in 373 BC, reports claimed they were empty
of animals: in the days before the quake, rats, weasels, snakes, and insects were recorded fleeing the area. There
are many such stories of apparently clairvoyant creatures, but scientists have had trouble pinning down how
animals might be able to sense future quakes. Research on the topic is fraught, since studies usually come after
the fact and risk applying retroactive significance. In a 1981 study that controlled for this, researchers found that
unusual animal behavior could only be significantly related to one of the four earthquakes investigated. As the
paper puts forward, not all earthquakes are similar; each earthquake may have its own unique early signals, only
some of which may be apparent to animals.

97. What does the passage mainly discuss?

1) How destructive earthquakes in the past were

2) Why our knowledge of earthquakes is incomplete

3) One way that can be used to predict some earthquakes

4) History of the scientific study of when earthquakes happen

98. The word “fleeing” in the passage is closest in meaning to .......... .
1) attacking 2) informing 3) relying on 4) escaping from
99. According to the passage, it is true that animals .......... .

1) have always helped mankind to prevent earthquakes
2) may be able to predict only certain earthquakes

3) are almost never killed during earthquakes

4) are the best means to predict earthquakes

100. The word “which” in the passage refers to .......... .
1) signals 2) study 3) animals 4) earthquake
76 3 81 2 86 1 91 2 9% 2
77 1 82 1 87 4 92 3 97 3
78 2 83 1 88 4 93 3 98 4
79 4 84 2 89 3 94 4 9 2
80 2 8 3 90 1 95 2 100 1
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76. ’'m afraid I .......... the English homework; would you give me some more time?
1) don’t finish 2) haven’t finished
3) not finished 4) wasn’t finishing
77. When a student doesn’t listen to the teacher in class and talks to others, she prevents .......... and others
from learning.
I)it 2) those 3) herself 4) themselves
78. To me, this job is as difficult to do .......... the one I already had.
1) as 2) from 3) like 4) that
79. The librarian told two of the students .......... to let others be able to concentrate on their lessons.
1) to keep quiet talking 2) they keep quiet by not talking
3) by not talking keep quiet 4) who were talking to keep quiet
80. The night-shift workers were forced to stop working when the .......... went out; everywhere was dark,
actually.
1) rule 2) fuel 3) power 4) coal
81. After spending three hours in the doctor’s waiting room, the woman still waited .......... for her
appointment.
1) luckily 2) patiently 3) repeatedly 4) absolutely
82. The director never asks more than 10 people to work with him in his projects, and he wants the best 10. He
always says, “When there are too many people, no one .......... the job seriously.”
1) gets 2) brings 3) takes 4) gives
83. Both parties .......... a solution to the problem and hope to talk things over during the meeting.
1) compare 2) arrange 3) join 4) seek
84. We’d been .......... to think that borrowing money was bad.
1) figured out 2) brought up 3) looked up 4) gotten along with
85. Journalists sometimes promise to keep the .......... of their sources hidden.
1) ethics 2) guides 3) identities 4) destinations
86. The shirt is not .......... because the manufacturer has created millions of shirts just like it.
I) serious 2) traditional 3) decorative 4) unique
87. She teaches the students to have .......... for different nations and appreciate the diversity of other cultures.
1) respect 2) pleasure 3) heritage 4) likelihood

Part B: Cloze Test

Directions: Questions 88-92 are related to thefollowing passage.Read thepassage and decide which choice
(1),(2),(3), or (4) bestfits each space. Then mark your answer sheet.

Globalization has affected most aspects of our lives. One area which has changed is education. More and more
people move to different countries for their studies. At the same time, more people stay at home and study by (88)
.......... learning. It is now easy (89) .......... without attending a college or university, or attending less often.
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“Blended learning” means studying partly in a traditional way in the classroom and partly online or via email.
These changes also mean that there is now more interest in “lifelong learning”, the idea that we go on learning

throughout our working lives and even into (90) .......... . It is easy to attend “webinars” or online seminars (91)
.......... away from our offices. Many adults go back to college later in life because it is so easy to get a degree
without (92) .......... work or disrupting family life.
88.
1) activity 2) distance 3) combination 4) achievement
89.
1) for learning 2) learn 3) to learn 4) learning
90.
1) ceremony 2) childhood 3) retirement 4) entertainment
91.
1) without 2) for 3) by 4) of
92.
1) giving up 2) turning around 3) taking notice of 4) taking part in

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.
Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

It’s not necessarily true that the longer you study, the greater your chances of getting a high score on a test. Time
alone won’t guarantee your success. You must study effectively, making the best use of your time. First, before an
exam, talk to your teacher. Instead of asking, “What’s on the test?” you can request guidelines about what topics
will be covered and how you can best prepare. This information will provide a purpose for your study. Next, find
a place to study where you will remain awake and undistracted: a desk in a library is better than a bed near a
television. Then, with your purpose in mind, reread your class notes, textbook sections, and other materials.
Underline key information and mark points that you do not understand. When you have finished this review, go
back to these points and try to answer them. Use any chapter summaries or review materials that are available.
Finally, if the teacher has provided sample test questions—or if review questions are available in the textbook—
try to answer them. They will help you do a final check of your readiness for the exam.

93. What does the passage mainly discuss?

1) The importance of tests in students’ educational success
2) The negative effect of studying longer than normal

3) The teacher’s role in students’ test performance

4) The way to prepare the best for tests

94. Which of the following best describes the structure of the information in the passage?

1) A goal is set and its effects are described one after another.

2) An approach is introduced and the steps involved in it are mentioned.

3) A claim is made and evidence to show that the claim is wrong is offered.
4) A problem is referred to and the possible solution to get rid of are listed.

95. The passage suggests that when exam time is close if a student asks his/her teacher, “What’s on the test?”,

that student .......... .
1) is on the wrong path 2) shows he/she is anxious
3) will not receive a response 4) would make the teacher disappointed
96. The phrase “these points” in the passage refers to the points .......... .
1) included in key information 2) one has failed to take a look at

3) of material other than class materials 4) one has not been able to comprehend
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PASSAGE 2:

To start with, we cannot go on using oil for ever. We can do so for a few more decades—perhaps until 2070, then
it will run out. There will be none left—or at least, there will be hardly any left.

At present, there is still plenty of oil under the ground. There is oil under the North Sea and under the Atlantic
Ocean. Engineers keep finding new sources of oil. But there are some realities which cannot be avoided. The
quantity of oil under the ground and under the sea is not infinite. It will not last forever. As oil becomes rarer, it
will become harder to extract. It will also become more and more expensive. It will, therefore, become more
expensive than other fuels. Oil will always cause pollution. Of course, there are also other truths: Scientists are
making new forms of oil, using plants. Most of the oil that we eat comes from plants; and it is sometimes possible
to make petrol from this oil. For instance, some types of diesel-fuel already contain sun-flower oil.

Sun-flower oil is cleaner than mineral oil, so it causes less pollution. But perhaps in the long term, vegetable
oils are not a good solution for the future; in the future we may need all the land for producing food.

In reality, the future will have to be a future without oil—or with very little oil. Scientists are already
developing cars, houses and plastics that do not use oil. Electricity will be the energy of the future, but it will have
to be clean electricity.

97. The phrase “run out” in paragraph 1 is closest in meaning to .......... .
1) appear 2) lower 3)end 4) exist
98. The passage suggests that at present oil .......... .

1) can meet human needs for energy

2) is too hard to get from under the ground

3) can he found under the seas and oceans more

4) is located more under the ground than under the oceans

99. Which of the following is true about sun-flower oil, according to the passage?

I) It can be used as fuel to drive cars.

2) It comes from sources other than plants.

3) It causes as much pollution as mineral oil.

4) It seems to be the final answer to our energy needs.

100. The passage would most probably continue with a discussion of .......... .

1) the clean energy of the years ahead

2) other problems related to the use of oil

3) the role of energy in scientific developments

4) steps to take to solve oil-related technological problems

76 2 81 2 8 4 91 1 9% 4
77 3 82 3 87 1 92 1 97 3
78 1 83 4 88 2 93 4 98 1
79 4 84 2 89 3 94 2 9 1
80 3 8 3 90 3 95 1 100 1
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76. When you go to university or college you may be surprised by the amount .......... to do.
1) to read and expect it 2) of reading you are expected
3) you expect to read it and 4) in reading when you expect
77. In the past two decades, libraries .......... the difficult task of making faithful digital copies of the books,
images and recordings that keep the intellectual effort of humankind.
1) began 2) would begin 3) were begun 4) have begun
78. Dolphins lack vocal cords but they have a large, oil-filled large called the “melon”, .......... they can produce
a variety of sounds.
1) that 2) which 3) with which 4) that by it
79. Modern motorcycles are lighter, faster, .......... than motorcycles of thirty years ago.
1) more efficient 2) or as efficient 3) and efficient 4) and more efficient
80. If they know the cause of the problem, they might be able to .......... how to prevent it happening again.
1) keep on 2) figure out 3) care for 4) take part in
81. .......... a topic you are reading about in a second language makes it easier to guess the meaning of new
vocabulary.
1) Ability of 2) Diversity in 3) Familiarity with 4) Uncertainty about

82. It is unbelievable that we human beings do not seem to attach as much importance as we should to the
.......... effect our activities have on the ozone layer.

1) natural 2) invisible 3) unique 4) harmful
83. Parent Network believes that parenting can he learned, and that improved communication can do ..........
for family happiness.
1) gifts 2) wonders 3) treasures 4) functions
84. 1 am happy to be in an international conference among a group of .......... professors in my field from all
over the world.
1) distinguished 2) reflected 3) identified 4) magnified
85. We sometimes wrongly .......... brief people as less capable than those who talk a lot.
1) remind 2) respect 3) regard 4) compare
86. Studies have shown that people who include .......... amounts of fruits and vegetables in their daily diets have
lower rates of cancers.
1) available 2) different 3) generous 4) intermediate
87. Science advances by .......... old theories with new ones that make better predictions.
1) replacing 2) informing 3) recommending 4) surrounding

Part B: Cloze Test

Directions: Questions 88-92 are related to thefollowing passage.Read thepassage and decide which choice
(1),(2),(3), or (4) bestfits each space. Then mark your answer sheet.

Ecology is the science of how living creatures and plants (88) .......... together and depend on each other and (89)
.......... the local environment. Where an environment is untouched, the ecology of an area is in balance, but if a
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creature (a plant or animal) is destroyed or a non-native species (90) .......... , then the ecology of the area will be
o1 .......... - in other words, the balance of nature will be disturbed. Man is a part of the environment and has
done more to upset the ecology during his short span on earth (92) .......... . He has done this by his ignorance, his
greed, his thoughtlessness and his wanton wastefulness.
88.

1) add 2) exist 3) compile 4) influence
89.

I)in 2) for 3) into 4) on
90.

1) risen 2) joined 3) left 4) introduced
91.

1) upset 2) lain 3) held 4) fought
92.

1) lives any creature 2) than any other living creature

3) and any other creature living 4) as any other creature that lives does

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.
Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

We hear about stress all the time. It’s on the news, in the newspapers, people talk about it and often when we ask
someone how they are, their answer is, ‘Oh, I’m just so stressed!” We see it manifesting in people and ourselves in
many different ways. Some people get nervous and lose their sense of humor, some withdraw or become irritable,
others feel tired and helpless.

Stress is the body’s response to what is happening in our lives and can take many forms. Some stressful
situations in our lives are sudden and difficult, others life changing, but most are just part of our everyday life.
With everyday stress, we deal with it along the way and it doesn’t necessarily negatively affect our wellbeing. But
it is when the demands or pressures of our days exceed our ability to cope that we find ourselves out of balance.
That’s why we need to take this seriously; if we realize that the pressures of our lives are greater than our
capacity to cope, then we need to take responsibility to make the changes in our lives to protect our wellbeing.

93. What is the purpose of the last sentence in paragraph 1?

1) To correct a wrong belief

2) To support an earlier statement

3) To show what causes people to get stressed out

4) To emphasize that stress does not have one definition only

94. The word “others” in paragraph 2 refers to .......... .

1) lives 2) forms 3) people 4) situations
95. The word “exceed” in paragraph 2 is closest in meaning to .......... .

1) go beyond 2) develop 3) fill in 4) force
96. The passage implies that people who suffer from stress .......... .

1) are to be avoided 2) should see a doctor

3) can take positive steps to control it 4) are socially irresponsible people

PASSAGE 2:

With age come changes in the structure and quality of our sleep. After about age 60, we have less deep (slow-
wave) sleep and more rapid sleep cycles; we awaken more often, and we sleep an average of two hours less at
night than we did as young adults. It was once thought that older people didn’t need as much sleep as younger
ones, but experts now agree that’s not the case. Regardless of age, we typically need seven-and-a-half to eight
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hours of sleep to function at our best. So if you’re not getting enough sleep at night, what about daytime naps? Or
does napping disrupt the sleep cycle, ultimately yielding less sleep and more daytime drowsiness?

These questions were addressed by researchers in a study conducted in 2011. The authors concluded that
napping not only increases older individuals’ total sleep time—without producing daytime drowsiness—but also
provides measurable cognitive benefits. This small but well-designed study involved 22 healthy women and men
ages 50 to 83 who agreed to be evaluated in a sleep laboratory. During a one- or two-week preliminary period,
participants kept sleep logs at home and wore monitors to track their nighttime movements. They were then
brought into the sleep laboratory for three nights and two days and given a thorough sleep evaluation (using
polysomnography and other techniques) and a battery of cognitive tests. After this initial laboratory session,
participants started a month-long daily napping routine at home: half took short (45-minute) naps, and half took
longer (two-hour) naps. After the second and fourth weeks, all returned to the lab for repeat assessments.

97. The study mentioned in paragraph 2 was primarily carried out to determine .......... .

1) the effect of napping on people’s overall sleep pattern

2) the difference in men’s and women’s need for daily naps
3) if age had any effect on people’s need for afternoon naps
4) young and old people’s general attitude towards daily naps

98. Which of the following statements about the time length people need to sleep every day is supported by the
passage?

1) It is disturbed by the amount of time people nap during the day.
2) It varies from person to person, depending on their health.

3) It is longer in young people than in old ones.

4) It is independent of people’s age.

99. The people who took part in the study reported .......... .

1) included more men than women

2) knew that they were part of the study

3) were used to napping on a daily basis

4) had problems with thinking and concentration

100. There is enough information in the passage to answer which of the following questions?
1) What made the 22 participants decide to be part of the study?
2) Why do people experience changes in the structure and quality of their sleep as they age?

3) Why is it argued that people in general need seven-and-a-half to eight hours of sleep per day?
4) What are some of the cognitive benefits old people get if they manage to take naps during the day?

76 2 81 3 86 3 91 1 9% 3
77 4 82 4 87 1 92 2 97 1
78 3 83 2 88 2 93 2 98 4
79 4 84 1 89 4 94 4 99 2
80 2 8 3 920 4 95 1 100 3
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76. They have been discussing the proposal .......... 9 a.m., but they haven’t reached a conclusion yet.
1) at 2) for 3) since 4) during

77. Michiko couldn’t come to the telephone when Mrs. Sakuda called her because she .......... in the laboratory.
1) works 2) has worked 3) would work 4) was working

78. The view from the top of the hill was even lovelier than .......... .

1) at sea level was 2) the view at sea level
3) was at sea level 4) at sea level was the view
79. There was a brightly decorated package in the office, but no one seemed to know .......... .
1) that it belonged to who 2) whom to belong to
3) what person that it belonged 4) to whom it belonged
80. Maryam was very generous and .......... no pains to help the needy in any way possible.
1) spared 2) absorbed 3) donated 4) exercised
81. If you want to become a/an .......... scientist, you will need to help science forward so everyone will
remember you.
1) expected 2) influenced 3) considered 4) distinguished
82. Teaching .......... requires a true love for children, the ability to manage a wide range of behaviors, and a
tremendous amount of patience.
1) effectively 2) hopefully 3) fluently 4) widely
83. The young boy .......... just how many stars existed in the whole universe, but it was unlikely that he would
ever find his answer.
1) supposed 2) wondered 3) reminded 4) identified
84. Many second language learners find it useful to keep track of their learning successes and difficulties by
keeping a .......... to record strategies and problems they face during their studies.
1) workshop 2) resource 3) diary 4) guide
85. Many of us complain that most college students are .......... and cannot speak a language other than their
mother tongue.
1) regular 2) natural 3) ancient 4) monolingual
86. That’s an ancient country with an old and rich culture. Their history has been relayed from father to son for
.......... generations.
1) moral 2) immediate 3) countless 4) complicated
87. The Innu language of Northern Quebec has no .......... for the word music because for them, music is

everywhere, in every living thing.

1) issue 2) emotion 3) pleasure 4) equivalent

Part B: Cloze Test

Directions: Questions 88-92 are related to thefollowing passage.Read thepassage and decide which choice
(1),(2),(3), or (4) bestfits each space. Then mark your answer sheet.

It is recommended that parents read to their children at preschool and early primary levels. When they read
to a child from story books, comic strips of the better type, and (88) .......... , he learns that books, magazines, and
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newspapers (89) .......... something of interest and amusement for him. He also comes to (90) .......... that this
“something” .......... which he enjoys is closely related to black and white symbols, and that these symbols can be
decoded only (91) .......... . This awareness and interest form a (92) .......... he can use to jump into learning to

read in school.

88.

1) are magazines for children 2) children’s magazines

3) there are magazines for children 4) children’s magazines are there
89.

1) draw 2) throw 3) hold 4) rise
90.

1) find out 2) look up 3) pay attention 4) check in
91.

1) when one knows how to read 2) knowing how to read and when

3) by knowing that how one reads 4) when and how one knows and reads
92.

1) drop 2) factor 3) means 4) communication

Part C: Reading Comprehension

Directions: In this part of the test you will read two passages. Each passage is followed by four questions.
Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

Most people can readily bring up images inside their head—known as their mind’s eye. But this year scientists
have described a condition, aphantasia, in which some people are unable to visualize mental images. Niel
Kenmuir, from Lancaster, has always had a blind mind’s eye. He knew he was different even in childhood. “My
stepfather, when I couldn’t sleep, told me to count sheep, and he explained what he meant, I tried to do it and I
couldn’t,” he says. “I couldn’t see any sheep jumping over fences, there was nothing to count.”

Our memories are often tied up in images, think back to a birthday party or first day at school. As a result,
Niel admits, some aspects of his memory are “terrible”, but he is very good at remembering facts. And, like others

with aphantasia, he struggles to recognize faces. Yet he does not see aphantasia as a disability, but simply a
different way of experiencing life.

93. We can correctly infer from the passage that Niel Kenmuir .......... .

1) didn’t see his father when he was a child 2) was born in a city other than Lancaster
3) has adapted himself to his condition 4) now works as a researcher
94. According to the passage, Niel didn’t count sheep because he .......... .
1) couldn’t imagine any 2) hadn’t seen any before
3) wasn’t familiar with math 4) didn’t want to go to sleep

95. What is true about Niel’s mind’s eye, according to the passage?

1) It has weakened his memory

2) It has caused him lots of trouble in life

3) It has given him a different picture of the world around us
4) It has in a sense enabled him to easily recognize strangers

96. The author mentions “a birthday party or first day at school” in paragraph 2 mainly in order to .......... .

1) describe the severity of aphantasia

2) show the relationship between human memories and images

3) emphasize the problems people with aphantasia have in relation to their true self

4) explain that a disability, whatever it may be, cannot make the affected person not enjoy life
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PASSAGE 2:
We spend a third of our lives doing it. Napoleon and Florence Nightingale got by on four hours a night. Thomas
Edison claimed it was waste of time.

So why do we sleep? This is a question that has baffled scientists for centuries and the answer is, no one is
really sure. Some believe that sleep gives the body a chance to recover from the day’s activities but in reality, the
amount of energy saved by sleeping for even eight hours is miniscule—about 50 kCal, the same amount of energy
in a piece of toast.

With continued lack of enough sleep, the part of the brain that controls language, memory, planning and sense
of time is badly affected, practically shutting down. In fact, 17 hours of continuous wakefulness leads to a
significant decrease in performance.

Research also shows that sleep-deprived individuals often have difficulty in responding to rapidly changing
situations and making rational judgements. In real life situations, the end results are serious and lack of sleep is
said to have been a contributory factor to a number of international disasters such as Exxon Valdez, Chernobyl,
Three Mile Island and the Challenger shuttle explosion.

Sleep deprivation not only has a major impact on cognitive functioning but also on emotional and physical
health. Disorders such as sleep apnoea which result in excessive daytime sleepiness have been linked to stress and
high blood pressure.

Research has also suggested that sleep loss may increase the risk of fatness because chemicals and hormones
that play a key role in controlling appetite and weight gain are released during sleep.

97. What does “it” in paragraph 1 refer to?

1) Focusing on Napoleon and Florence Nightingale
2) Getting by on four hours a night
3) Two thirds of our lives
4) Sleeping in general
98. Which of the following best describes the organization of the information in the passage?
1) A general claim is made and then denied in the light of new information.
2) A recommendation is made and the reasons supporting it are listed.

3) A question is asked and attempts are made to work out a solution.
4) A problem is mentioned and its causes are discussed.

99. The word “miniscule” in paragraph 2 is closest in meaning to .......... .
1) rare 2) basic 3) exact 4) unimportant
100. All of the following are mentioned as possible results of sleeplessness EXCEPT .......... .
1) fatness 2) loss of appetite 3) poor judgement 4) decreased memory ability
76 3 81 4 86 3 91 1 9% 2
77 4 82 1 87 4 92 3 97 4
78 2 83 2 88 2 93 3 9% 3
79 4 84 3 89 3 94 1 9 4
80 1 8 4 90 1 95 1 100 2
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Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words
or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76. Jumping out from behind the bushes, Carlos shouted at his .......... and laughed.
1) frightened sister 2) sister frightened 3) sister to be frightened 4) frightening sister
77. He .......... my favorite actor since I saw him in his last film; he is the best, I believe.
1) was going to be 2) would be 3) has been 4) was
78. Near 100 .......... of fish are taken from the ocean every year.
1) millions ton 2) million tons 3) millions tons 4) millions of tons
79. A camera can be used to film directly from the computer’s display screen, but for the highest quality images
possible, .......... .
1) which expensive film recorders are used by 2) they are used for expensive film recorders
3) are used by expensive film recorders 4) expensive film recorders are used
80. Were you .......... or just joking when you said you were going to leave your present job?
1) natural 2) amusing 3) excited 4) serious

81. Author Robert A. Heinlein once said that love is that condition in which the happiness of another person is
.......... to your own.

1) hospitable 2) essential 3) attractive 4) creative
82. Are you going to .......... working all night? I think you need to give yourself a break.
1) give up 2) fall down 3) keep on 4) depend on
83. Someone once joked that computers will never .......... man entirely until they learn to laugh at the boss’s
jokes.
1) compare 2) retire 3) respect 4) replace
84. People are continuously buying more products and building more houses. Fresh water, oil and natural gas
are just some of the resources which arein .......... .
1) demand 2) diversity 3) discount 4) disorder
85. Food is part of your .......... , s0 what are you saying about yourself when you eat junk food which is very
harmful to not only your body but also your mind?
1) function 2) principle 3) identity 4) heritage
86. If you visit my country, I recommend that you .......... to visit the northern part; everything there is
wonderful.
1) check in 2) inform 3) dedicate 4) make sure
87. When the boy stopped breathing in class, an .......... action was needed by someone in the classroom to

perform CPR in order to save his life.

1) elementary 2) immediate 3) available 4) intermediate

Part B: Cloze Test

Directions: Questions 88-92 are related to thefollowing passage.Read thepassage and decide which choice
(1),(2),(3), or (4) bestfits each space. Then mark your answer sheet.

Some people go shopping more regularly than other people to look at products in shops even when they do not
have much money. This is known as window shopping and (88) .......... people to plan ahead and save for the
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things (89) .......... or wait for the items to drop in price. Some people spend a lot of time looking for bargains
while others do not (90) .......... the price and are happy to spend a lot. Some people believe that the more
expensive the item, the better the (91) .......... , but this is not always true. It is reasonable to buy (92) .......... , but
some people use a credit card or borrow money from the bank so that they can buy the items they really want
rather than wait for it.

88.

1) allows 2) improve 3) attempts 4) provides
89.

1) to buy they want in the future 2) they want in the future buy

3) they want to buy in the future 4) which in the future want they to buy
90.

1) figure out 2) get along with 3) look after 4) think of
91.

1) economy 2) quality 3) image 4) origin
92.

1) affordable items that are 2) items which are affordable

3) affordable items they are 4) which items are affordable

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four questions.
Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE 1:

Efforts to explain how the pterosaurs became able to fly have led to suggestions that they launched themselves by
jumping from cliffs, by dropping from trees, or even by rising into light winds from the crests of waves. Each
explanation has its difficulties.

The first wrongly assumes that the pterosaurs’ hind feet were similar to those of a bat and could serve as
hooks by which the animal could hang in preparation for flight.

The second explanation seems unlikely because large pterosaurs could not have landed in trees without
damaging their wings. The third calls for high waves to make flying possible. The wind that made such waves,
however, might have been too strong for the pterosaurs to control their flight once airborne.

93. What question is the passage mainly concerned with?

1) What was the first bird? 2) Did the pterosaurs ever exist?
3) What made the pterosaurs be able to fly? 4) Why is our knowledge of the past so unclear?
94. The word “those” in the passage refers to .......... .
1) feet 2) difficulties
3) explanations 4) pterosaurs
95. Which of the following best describes the author’s altitude towards the three explanations offered in the
passage?
1) Excited 2) Shocked
3) Confused 4) Uncertain

96. Which of the following statements, if true, would decrease the force of the reason brought in against the
second explanation?

1) The pterosaurs always landed on the ground.

2) The pterosaurs were too big to be able to land at all.

3) The pterosaurs laid eggs in remote areas far from dense forests.
4) The pterosaurs’ anatomy is not as much investigated as it has 10.
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PASSAGE 2:

People who speak Swahili who want to communicate using a “compyuta”, which is the Swahili word for
computer, are unable to do so in their own language. It makes no difference that computers have huge hard
drives and sophisticated software. They cannot operate in Swabhili or other African language, of which there are
hundreds.

Soon, however, they may be able to. Linguists in Africa are working with information technology specialists to
make computers operable to Africans who do not know any of the languages currently used on the Internet.
Economics is bringing about this change. Microsoft sees a market for its software among Swabhili speakers in East
Africa. Google now has a search engine for speakers of Swahili in Kenya. Other software companies will probably
soon develop products for African consumers. In addition to economics, there is another reason for making the
computer accessible to Africans. Hundreds of African languages are dying out, and linguists view the computer as
a way to save them. According to UNESCO estimates, 90 percent of the world’s 6,000 languages are not on the
Internet, and one language becomes extinct every day somewhere in the world. The hope is that computers can
help save them.

97. Which of the following is true about the Swahili people, according to the passage?

I) They lack computer skills to enable them to use computers.

2) They are not willing to make use of the computer in their life.

3) They speak a language they cannot communicate with through the computer.

4) They do not have the hard drive and the necessary software to make computer use a reality.

98. The passage suggests that the number of languages in which people cannot operate through the computer is

ooooooooooo

1) increasing on a daily basis 2) more than one
3) limited to African countries only 4) yet to be determined
99. I can be concluded from the passage that there are some Africans who .......... .

1) speak languages that have no written format

2) are inventing languages that are sure to die out

3) have little trust in foreign companies’ real intentions

4) are not familiar with any language other than their mother tongue

100. The author has mentioned UNESCO mainly in order to .......... .

1) support an earlier statement

2) show the number of languages on the Internet

3) prove that it is the African languages that are most ignored

4) emphasize that saving languages from extinction is a global duty

76 1 81 1 8 4 91 2 9% 1
77 3 82 3 87 2 92 2 97 3
78 2 83 4 88 1 93 3 98 2
79 4 84 1 89 3 94 1 9 4
80 4 8 3 90 4 95 4 100 1
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If you knew Chinese very well, you would understand what this reporter is saying.
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You should wake up and start work early if you want to succeed. (Vision 3 - Page 83)
S £9x8 1) 5 98 il 39 oo L 95 Bhge (2o 5]
Cl 3K 1) @Mdans p)l> g xS il opl pyls5 (690 gud g5 @ilislon dhoz e (V) 43S VA
by IS 4y a3l wyd QLS Ve doio )3 €650 AlBdlo» ia “To be honest” S 5 ¥
To be honest, I enjoy using them all, but my favorite language is absolutely my mother tongue!
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This weekend is my birthday. I have invited everyone but Mina.
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Whenever they find a sweet on the floor, they stick to the sweet and carry it to their home. (Vision 3 - Page 66)
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Like other aids, it converts sounds into vibrations and transmits them directly to the magnet, and then to the inner ear, producing a clearer
sound. (Vision 3 - Page 67)

S o M55 8 yiely sl (i ol ) 5 NS (oo Jitie (JS15 555 e 5 yinl @ Lot |y il 5 s A3k 4 ] ol Snns el do S 1S3 5l
(1) &y 35 .AQ

LY

ol (“offers” bxuyl 1) 5,80 Jab 4 5ls wles oloie 4 dlex (slal ;> “having” jiae el 3959 JJs 4 X

25 JSs 4 S ok 4 g as e aislo “have” Jab b ksl cpl psied g)dg) € nw 429> L3l L “Having a team of people attack a project ...” ales ;> A

sl

0uiS Cawlgd y> Jeld + have Jad b po + 5157 Lol 048 + 10 oy jluas + Joaio
I had Jane wash the dishes. G |y Byl s ool 0
(¥) aiy 5 4-
35,8 (¥ g ol (¥ b (¥ 390 «ol8 ()
(¥) aig8 A\
Culgiua (¥ gas (¥ Cogela (¥ otz ()
(¥) a5 .Y

ol (3Ll “they” el yous ¥ 4535 )3 S da g5 00,5 0 “resources” & “that” Jsoge e A

N e e | =
a8 ooy Hlages 55 eJlte (sl (ol 3,8 S (555 s 3,90 (pm) (s1j1> o505 0 daal) SIS il 95 5 Slape (S5 @ el 59y Hlgiion 3 (Sim il
S oo 0ligS 1y yas g 39 oo (gddxte (oD MU sy Cal o Coli &S iiS o 5
lacusbpe 1> Ygann 33,500 S o 365 cd) et Bl g yoe 53,5 oS & il ol ol 295 ol 332 ige o) S5 g9y oS (5,0 Jale
Jole 395 s oges Sz Ll (ol tles syt (Saied bl 53 lope 0 Canad 05 390n sl s Gla)lS (e )3 g2 208 G 5 Syt b ()8
el B g pos Job ln 6%
Mo J 5l i 55 pler (U5 cal s Jb 53 () sloia] Sble Lol aiis (0 5o Jb 3 Y o Casl 03,5 55k (SUj sl oo G35 (K8 Jalse
SaS (b5 4 ;503 (Simyd 8l a5 Wil pl Wb Shalies Gl cul )1 Cuwd )3 (i Clgis b slacusBye g ditun Joli il Jb 53 (gt (U S o0
)8 Wl yas juiy (9 5b) Olye & S ;03 Jalge (B b 4 (U5 iz pa il adl gl (S5 8 o

el salgs asldl (13 g0 s Cond Uj F Nsb (Sj b akail) 5 (Sind sladlse o 4 elged > con bobs el e ol (1) aig3S QY
] S 3 4y dinsly (30D (S Koo odbugsi 15 & o Aol ol e I (E) AipyS AE

itz Sgug (W (15 0 L) oLa(Susd Ll Al e (ye o ek gl e Sl (1) 4gyS 0

o aalgd oS 3l Jleinl a4 (U3 g (1550 33 (S) 4 ol 53 gl Sl gumms o)l 5 pluS (e b (Y) dig33 47



fo *A‘s)ml)w),“‘slb‘jung'cmli:\w

¥ oo e | =
0y olgee 383 b ol o oS wis los LB g S sbrolSKins b lgouls w0 sl 4 O'I olro 1 i {abas g Sl gl lazulis” cuzo OIS ) wyled
i Olodss b oloy o (amdy Joy lowilse 53 L31 )L oy madly ygome a3l gy a3 o 0]l Lo 4y Eass )3 WnolSisd el 51 (o 951 ol o
S & Gy D) ge) waiS dalllas LS 1 b amd s ojll ol Lo 4y . 3,008 o Lo LSl )3 oyt s BISel A2 LS &y s LalssoliS Sig i8] o
OIS iead: (Showio 43 055 igal Sy gt 5 o oI ol oSy S S b g SIS e ) Sy Ll i e (oo
4 S g pilsse bl Cungd & ()l Az o 1) pl e el ol S 1) By el oe 9 cind Lo i ST 0o b 4 Lo sl 1y T Sy Sl
& alen 0wl i da Lo iy Al ced (41,500 1l g p3Y S g (bl Jsemel QLS 0 b ddle ST s g 0,8 dales by o5 b S byl
2,8 36l 1y @ Gl o |y a8 LS I LS g diws 5l5)l b gdels gladasu | (Sog ST slaolS iy oyl ladd
2 2929 SIS GlaclS (s (> LS 5 o] e <ol el )Ly (Glofyg s oS LBl ul 50 B gl SIS o (g Sl QST (S b Lo 5 as 5o L2 ey
S o bl s bl b1y Lo 5l S s 5 )1 (glaiS & sl (glesds € adlyy S

@ailod,S 5Ly ag8 gla Sud gls LOLSY a5 )l gl s & odiun g (\) &y 35 QY
( Sy 2SI cOUS Wlgd) TuS o Cutmo (s> 42 B)L [Tves pgd iy (&) aisy3 QA
ool (S SO lgien ol Jleasl 4 ped a3 €/ 5o d wul (¥) a5 .99

Colgd oo m215 & glascion Sy o )il (3 4> 4 pgd A, “that” 33lg (V) iy 35 .-



28558 ol (uadSS1 0L 4
N 15225 )9S (gLavyfinw 1) Al

€S IS an alayl )y ol @i 555 aoma jain Jg sl 03,8l )y ()8 dlaiiy S guless SBD oz gme (V) Ag 3T VE

Jolds gy Sl L arsdS jlas woyls gloj & 5L coniis plosl jeid (38,5 waewad Jas 4ol s 4 30 (JB gls )3 sl « JolS” Jlo» Lo a5 “has received” L alie V
ol “hasn’t decided” (sl (wolio BLES 35 dlar (lol o “yet” 4,8 o 4t
€p3)S on SEMB oS 300 oy T J) i S Gz colad Ly o] Slgi a5 gus U oy L) S0 it geh il e (F) Aig3S VY

oo 934095 who (el )5 Eom 93 b Ll )
Ay S 4 dles Jebb olgie 4 g 039y Jhuae wul “learning” (y
03 o eais 9y €BAmY 3l g 039 yaume “tO be able to” (¥
07 b yhuas g ytuas el I Jlie 2>
He changed the bulb to have more light in the room. (Vision 2 - Workbook - Page 54)
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There are a number of ways to improve your understanding of the language. (Vision 2 - Workbook - Page 10)
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A: How much money are you trying to raise for the charity?
B: One-thousand dollars.
A: Great! That’s only a little more than you’ve already raised!
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el ) lagygalie plosl Jls 53 0)lgem Lo (),
il b
eight million dollars v/
millions of dollars v/

eight millions of dollars %
eight million of dollars *

Closs 53 by cpl 4 as S o5 )l oS sl oyl ded | 30 (w50 Jg oS o0 yob ) & piwbior oz e (F) Aig3F VY

o hE” (e (i a5 B s 35 omel 3935 Sy 1) Jle Slao b ol ol 45 (S a5 yon ) e o 4y L5 e il 03 (sl 90 pla b )50 S s dunslile \Q’
bad worse (the) worst

““worst” 5 “worse” 3l Jleo v
The conditions they’re living in are worse than we thought.
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China is the country that paper, silk and gunpowder were first produced in.

China is the country which paper, silk and gunpowder were first produced in.

China is the country in which paper, silk and gunpowder were first produced.

China is the country where paper, silk and gunpowder were first produced.
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After receiving his diploma, he went abroad to study medicine. (Vision 3 - Page 19)
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It is a fact that all people are ready to try as hard as possible to become happy, isn’t it?
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Interestingly, English has fewer native speakers than Chinese, but there are about one billion learners of English all around the world.
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They have not seen each other for about three months. (Vision 2 - Page 53)
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I guess you haven’t exercised for a long time. (Vision 2 - Page 54)
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I know electricity can be produced from water and sunlight. (Vision 3 - Page 75)
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Dolphins lack vocal cords but they have a large, oil-filled organ called the “melon”, which they can produce a variety of
sounds with.

Dolphins lack vocal cords but they have a large, oil-filled organ called the “melon”, with which they can produce a
variety of sounds.
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List of Phrasal Verbs (7t to 12th)
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Add to

Ask about

Ask for

Base (sth) on
(sth)

Be after

Be back

Be from

Be like

Behave
towards

Believe in

Bring up

Burst into

Call back

Care for

Change into
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Around 4,000 new words are added
to the English dictionary every year.

Ask your classmates about their
family members.

Well, you can ask her for help.

The film is based on a short story
by Thomas Mann.

I never quit until I get what I’'m
after.

Class, be quiet! I’ll be back in a

minute.

Where are you from, Hamid?

You can say what your city is like.

relationship: the way in which two
or more people feel and behave
towards each other.

We believe in Allah.

Our elders have either learned,
created or have been brought up
with a set of morals, values and
principles in their life.

Terri keeps bursting into tears for
no reason.

I’1l eall you back when I get home.

We must care for those who once
cared for us.

Change the sentences into questions.
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Check in

Check out

Combine with

Come back

Come from

Come in

Come on

Come over

Come to

Come with (sb)

Come up with

Consist of

Convert into

Cross out

Cut down

Deal with

Decide on

Depend on

Die out
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Guests cannot check in before 2:00
PM.

Are they checking out?

Combine the two sentences with
‘and’, ‘but’, ‘or’ or ‘so’.

What time is she coming back?

Solar energy or the energy that
comes from sunshine can be used to
heat, cool, and light our homes and
schools.

Tina wasn’t reading a novel when
her mother came in.

Come on!
potato!

Stop being a couch

Why don’t you come over for
dinner?

Sam has not come to work.

Are you coming with me?

When two people cooperate with
each other, they come up with
better ideas.

The Solar System consists of the
Sun, Moon and Planets.

Like other aids, this device converts
sounds into vibrations and transmits
them directly to the magnet.

Cross out the different name.

They cut down trees and destroy
lakes.

The author has tried to deal with a
very difficult subject.

First decide on a city in Iran.

The price depends on its size.

The Persian lion died out about 75
years ago.
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Divide into

End in

End with

Fall down

Figure out

Fill in

Fill out

Find out

Forgive for

Get along
(with)

Get around

Get away

Get back

Get off

Get on

Get to

Get up

Give back

Give off
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Can you divide the above animals
into two groups?

These adverbs known as “adverbs of
manner” often end in —ly.

Why did you end your essay with a
quotation from Shakespeare?

He fell down and hurt his head.

Mehran couldn’t figure out what the
teacher was talking about.

Fill in the blanks with the number of
the words you choose from the list.

Fill out the table below.

You have to find out what works
best for you.

Mom forgave me for breaking the
vase.

If people practice art, they will get
along with their stress.

They helped the first patient with
penicillin in 1942 when the flu was
getting around.

1) He said he’d meet me for lunch if
he could get away.

2) A police officer grabbed him, but
he got away.

If you travel across Iran, you’ll get
back home with excellent handicrafts
as souvenirs for your family and
friends.

Get off the train.

Get on the bus.

Let’s get to know each other.
When does your brother get up in
the morning?

They gave me some money back because
I'had paid too much.

Some materials may give off harmful
gases in the process.
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Give to

Give up

Go away

Go back (to)

Go out

Go round

Go through

Go to

Go together

Graduate from

Grow up

Hang out
(with)

Hear of

Help with

Hurry up

Jump out of

Jump to

Keep away
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Give your contact information to the
secretary.

He gave up his work without saying
anything to us.

Go away and leave me alone!

Go back to the Reading. Find three
simple and three compound sentences.

She was working on a difficult problem
when the power went out.
Go out on Nature Day.

Planets go around the Sun.
1) The country is going through a
period of economic instability.

2) Let’s go through the arguments
again.
1) They are going to Hamedan, aren’t
they?

2) Let your computer monitor go to
sleep or turn it off to save more energy.

A collocation is two or more words
that often go together.

He graduated from Engineering School
of Beirut.

Children grow up rapidly.

I used to hang out with them when I
was at college.

Oh, don’t you know him? Have you
ever heard of Dr. Mohammad Gharib?

He always helps me with my lessons.

Hurry up, or we’ll miss the bus!

The firefighters jumped out of their
cars

I did not read the introduction and
jumped to the next part.

An apple a day keeps a doctor away!
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Keep off

Keep on

Know about

Lead to

Learn about

Listen to

Look after

Look around

Look at

Look back

Look for

Look like

Look out

Look out for

Look up

Make from

Make up

Match with

Move to

Pair up
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Keep off the grass.

Keep on learning!

Is it good to surf the net to know
about our trip?

When there are too many people
trying to lead and give their opinions,

it’s confusing and leads to bad results.
Scientists learn about the world by

observing and experimenting.

Listen to the English Alphabet songs.

Sara looked after us very well.

Look around, find, and write more
words.

Fatemeh, look at this picture.

I look back at that time with a lot of
pride.

Look for that information.

Check if you can say what you look
like.

Look out! You’re going to crash.

Look out for common reference words.

Look up this word in the dictionary.

Clean energy is renewable. It is made
from resources that can be replaced,
like wind, water, sunshine, tides, and
plants.

China makes up 18% of the world’s
population.

Match the Persian words with the
English ones

When he was seven his family moved
from Iran to Lebanon.

Two students from each class pair
up to produce a short play.
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Pass away

Pay for

Plan for

Plug in

Plug into

Provide with

Pull over

Put aside

Put back

Put out

Range from ...
to ...

Read about

Read on

Refer to

Reflect on

Relate to

Remind (sb) of

Replace with

Reply to
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Saffarzadeh passed away in 1387.

People may be paid for voluntary
garbage delivery as well.

Everyone needs to plan for the future.

The electric car is usually plugged
in at night.

The car can be plugged into a
special charging unit even at houses.

In this lesson, we provide you with
some helpful tips on how to use a
dictionary effectively.

Let’s pull over and have a look at
the map.

Sajjad put his camera aside and
asked people to leave.

Can you put the book back when
you’ve finished it?

He puts out fire and saves people’s
lives.

Dictionary prices range from $5 to
$15.

Did you read about John in the
newspaper?

Even if you cannot figure out the
exact meaning, your understanding
can be enough to allow you to read
on.

Read the passage. Find what these
words refer to.

He sat in the garden and reflected
on what he had just read.

The verbs that express a state rather than
an action usually relate to emotions,
thoughts, and senses.

These wind turbines remind me of
what I read about using wind power
in Yazd’s buildings.

You can replace the repeated nouns
with suitable pronouns

I will reply to her letter as soon as I
can.
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Say about

Shout at

Sit down

Sit on

Speak to

Stand for

Stand up

Start with

Stick to

Talk about

Talk to / with

Take away
from

Take care of

Take from

Take in

Take off

Take out (from
ATM)

Tell about

Thank for

Think about
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What does the first sentence say
about Mahan?

Dad really shouted at me when I
didn’t do my homework.

Sit down, Ali — you look tired.

Today, my little son was sitting on my
lap when a pigeon sat on the window.

Kate saw Sofi, but she didn’t speak
to her.

LR. stands for Islamic Republic.

A man at the back stood up to ask a
question.

Remember that sentences in a
paragraph start with a capital letter.

Whenever they find a sweet on the
floor, they stick to the sweet and
carry it to their home.

English people love to talk about
weather.

Talk to your classmate.

One day of smoking can take
around 5 hours away from the
smoker’s life.

All humans must take care of
nature.

There are example sentences which
have been taken from poetry.

Roots take nutrients in from the
soil.

The plane should take off on time.

Take out money.

Can you tell me a little about his
life?

We thanked our hosts for the lovely
evening.

It is sometimes good to think about
our body and how it works.
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Think of

Translate into

Travel around

Turn off

Turn on

Turn round

Type into

Wait for

Use up

Wake up

Watch out

Work on

Work out

Work with

Write down

Vary from ...
to ...

Bl o35 53
P s b S S

A ()5 Ao

S s > )9

O phgels

035 Oodey (o 5 E)

O T
(Ole) 25 49

S b ol o) e

P (e b (8) e

oS Syl i

03)5 )L\H ‘OJ‘:’ )IAH

o9 blge

08 8 G sy

et ()
O (3390 (b los (¥

Think of some questions and ask
your classmate about the city.

It has been translated into countless
languages including German, English

and French.

Are they traveling around the world?

She turned off the alarm.

His little brother asked him to turn
on the computer.

We turned around in someone’s
driveway.

Please type your name and address
into this box.

The students were waiting patiently
for the bus.

Don’t use up all the milk; we need
some for breakfast.

When does she wake up?

If you don’t watch out, you could
fall.

Some scientists are working on
producing electricity.

1) When you recognize prefixes and
suffixes and know what they mean,
it will help you work out the
meaning of many words you read.

2) Your plans might not work out,
so don’t start thinking about what
you’ll do after you succeed.

Who can work with a computer?

Listen again and write down three
important points mentioned.

In some cities, prices vary from
shop to shop
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(to) ask the information
desk

(to) attend a TV program

(to) bake a cake

(to) be at home

(to) be bored with

(to) be born into a family

(to) be busy doing sth

(to) be different from

(to) be famous for sth

(to) be frightened to death

(to) be good at sth

(to) be interested in sth/sb

(to) be originally Iranian

(to) be polite to sb/sth

(to) be surprised at sth

(to) be tired of sth

(to) become familiar with
sth

(to) board the plane

r l A .

List of Collocations (7th to 11th)
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(to) save sb’s life

(to) say yes/no to sth

(to) search the Web

(to) set the table

(to) show respect

(to) snow heavily

(to) stay awake

(to) stick/put a plaster on a

wound
(to) study lessons

(to) surf a website/ the
Internet

(to) take an express train

(to) take one’s medicine

(to) take photos

(to) take turns

(to) tell a story

(to) tell the truth

(to) text a message

(to) travel the world
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(to) book a room/hotel

(to) book sth online

(to) break one’s leg

(to) browse the internet

(to) call the emergency

(to) catch the bus: I ran fast

to catch the bus.

(to) clear the table

(to) clear water

(to) commemorate NE
martyrs

(to) communicate one’s
feeling

(to) connect to the Internet

(to) cook food

(to) describe sb’s
appearance

(to) do a puzzle

(to) do exercise

(to) do experiments

(to) do research

(to) do voluntary work

(to) donate blood

(to) draw a picture

(to) exchange money

(to) feel weak
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(to) twist one’s ankle

(to) update a blog

(to) wait patiently

(to) walk home

(to) weave a rug

(to) write a report

(to) write a story

a heart attack

affirmative sentence

ancient history

as a hobby

at birth

at the turn of the year

baggage reclaim

balanced diet

blood cells

blood pressure

body organ

by bus

by means of

by plane

contrastive stress
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(to) feel well

(to) fight disease

(to) follow a rule

(to) gain weight

(to) get amused

(to) get depressed

(to) get home

(to) get one’s BA in sth

(to) get one’s Ph.D. in sth

(to) get ready

(to) get rest

(to) give sb advice

(to) give sb hope

(to) go abroad

(to) go on a trip

(to) go to the movies

(to) go well

(to) grow old

(to) have a headache
/backache /toothache
/stomachache /earache

(to) have a reservation

(to) have a
temperature/fever
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dairy products

desert touring

educational center

emphatic stress

endangered language

every other week

falling and rising
intonations

farming region

fast/junk food

fire station

flat tire

from left to right

from top to down

gas station

geographical location

geographical position

gift shop

gold fish

health condition

health problems

heart attack
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(to) have access to

(to) have an accident

(to) have an effect on

(to) have an injury

(to) have lunch

(to) have one’s leg in a cast

(to) have some bruises

(to) health advice

(to) hire a taxi

(to) hold a ceremony

(to) hold a game

(to) hurt one’s back

(to) hurt one’s knee

(to) light a lamp

(to) lose interest

(to) lose one’s hearing

(to) make a cake

(to) make a dialogue

(to) make a mistake

(to) make a noise

(to) make a suggestion

(to) make a voyage
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historical site

homemade dish

in pairs

in this way

Information Technology
aT)

language melody

living languages

means of transportation

means of travel

military parade

month of birth (OR birth
month)

mother tongue

national anthem

native language

natural home

nervous system

on TV

one by one

over the phone

pencil case

pencil sharpener

public transportation
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(to) make movies

(to) make tea

(to) measure blood
pressure/heartbeat

(to) meet the needs of

(to) narrate a story

(to) open an account

(to) pack for a trip

(to) pay attention to

(to) pay toll

(to) play sports

(to) play the role of sb

(to) prepare/make a meal

(to) press palms

(to) prevent diseases

(to) produce a movie

(to) produce an artwork

(to) pump blood

(to) put emphasis on sth

(to) recharge the E-ticket

(to) ride a bicycle
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recreational activities

registration form

round the corner

running nose

sign language

SOre €yes

sore throat

state of being

stone houses

technology addict

the Holy Quran

the key to success

train station

travel agency

true story

way of living

welcome to

wide range

word web

World Wide Web
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Above all.
Actually

All right.

Are you OK?

By the way

Come on!

Come to dinner!
Cool!

Don’t worry.
Excuse me
Fine/Great, thanks.
Group together
How are you?
How’s everything?
How touching!
How wonderful!

I can’t make it today.
I don’t know.

I don’t think so.

If all goes well.

I hope not.

I see!

In pairs
Interesting!

It’s a pity

Like what?

May I help you?
Me too

Nice to meet you, too.

Nope.
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List of Idioms & Expressions (7th to 12th)
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Oh, come on!

Oh, well.

On the road

Really?

See?

Sounds good

Sure.

Thank you.

Thanks, that’s a good idea
That’s fine.

That’s great!

That’s interesting

That’s nice.

That’s OK with me.
That’s right.

That’s the point.

That’s too bad.

They didn’t work.

To be honest OR honestly
To be kept to oneself
Ups and downs

Well done!

What a pity!

What for?

What’s it like?

What’s wrong with him?
Why not?

Wow!

You win!

You’re welcome!
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arrival s,

- ment
- ance
-y
- ness
- dom

-ism

-sion
- tion

- €nce

—ive
—ent

assistant jLi.ss

jowew! (slasiguy
)
move movement
appear appearance
discover discovery
weak weakness
free freedom
human humanism
visit visitor
televise television
inform information
differ difference
universe university
hard, friend  hardship, friendship
marry marriage
biology biologist
work worker
please pleasure
economy economics
try trial
fail failure
s G110 (slasiguy
Al
economy economic, economical
care careless
child childish
comfort comfortable
act active
nature natural
care careful
child childlike
vise visible
fame famous
please pleasant
rain rainy
moment momentary
friend friendly
attract attractive
depend dependent
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happy happily
YwJed slasiguy
. real realize L e
—ize (ise) .. o
civil civilize )5 dete
en weak weaken O3S
hard harden 55 pSoxe
i uni— unify O3S e
Y clar— clarify 05 oybay
ate educ— educate o gl
commun- communicate 3,5 8, bls)|
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combination: prefix + suffix example In a sentence
Dgaw+ 2 gadn oS » Jle dlos 4>

unfortunately Unfortunately, 1 don’t have time to see you.

slawlis e |y Lo oyl 89 wilduwlio
un- + root +ly : : : :
unsafely To drive unsafely is the main cause of accidents.
ool S5 o ] Sslas Jd oy yiagee (poll S 4 (Sl
. We should have more sport and recreation activities in schools.
recreation o i 3 .
i ol LB oyl 53 (gt (059 9 P slacdld WL Lo
_ ‘ ‘NT'L This work is a recreation of old arts.
re- + root + -ion AR el o285 (gloyin 5] (el 2803t S )
reproduction We see reproduction of French beds nowadays.
Myt e Sguild SBESS il Aals o5l
I have spent uncountable nights in this very bed.
uncountable ;
et PlosyiS cou ped 40 (gylacd (o
s Tt o b “Information” is an uncountable noun.
- T root T mable oI el ot 5 ] Sy €Sl
unbelievable His courage is unbelievable.
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Present and

infinitive Simple past Past participle infinitive Simple past Past participle
arise arose arisen lie lay lain
awake awoke/ awaked | awoken/awaked light lighted / lit lighted / lit
be was / were been lose lost lost
become became become make made made
begin began begun may might -
bite bit bitten mean meant meant
bleed bled bled meet met met
blow blew blown must had to -
break broke broken pay paid paid
breed bred bred put put put
bring brought brought read read read
broadcast broadcast / ~ted | broadcast / ~ted ride rode ridden / rode
build built built ring rang rung
burn burned / burnt burned / burnt rise rose risen
buy bought bought run ran run
can could - saw sawed sawed / sawn
catch caught caught say said said
choose chose chosen see saw seen
come came come seek sought sought
cost cost cost sell sold sold
cut cut cut send sent sent
deal dealt dealt set set set
do did done sew sewed sewed / sewn
draw drew drawn shake shook shaken
dream dreamed/dreamt | dreamed/dreamt shall should -
drink drank drunk shine shone / shined shone / shined
drive drove driven shoot shot shot
eat ate eaten show showed showed/shown
fall fell fallen shut shut shut
feed fed fed sing sang sung
feel felt felt sink sank sunk
fight fought fought sit sat sat
find found found sleep slept slept
fly flew flown smell smelled/smelt smelled / smelt
forbid forbade forbidden speak spoke spoken
forget forgot forgotten speed speeded / sped | speeded / sped
forgive forgave forgiven spell spelled / spelt spelled / spelt
freeze froze frozen spend spent spent
get got got / gotten spread spread spread

Present and




Present and
infinitive

give

go

grow

hang

have

hear

hide

hit

hold

hurt

keep

know

lay

learn

leave

lend

let

Simple past

gave
went

grew

hanged / hung
had

heard

hid

hit

held

hurt

kept

knew

laid

learned / learnt
left

lent

let

Past participle

given

gone

grown
hanged / hung
had

heard

hid / hidden
hit

held

hurt

kept

known

laid

learned / learnt
left

lent

let

Present and
infinitive

stand

steal

stick

strike

swear

swim

swing

take

teach

tear

tell

think

throw

understand

wake

wear

wet

will

win

write

s ity

Simple past Past participle

stood stood

stole stolen
stuck stuck
struck struck
swore sworn
swam swum
swang swung
took taken
taught taught

tore torn

told told
thought thought
threw thrown
understood understood
woke woken
wore worn
wetted / wet wetted / wet
would -—

won won

wrote written
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